Chapter

Water Systems Piping

Introduction

Water systems piping consists of pipes, valves, fittings, pumps, and as-
sociated appurtenances that make up water transportation systems.
These systems may be used to transport fresh water or nonpotable wa-
ter at room temperatures or at elevated temperatures. In this chapter
we will discuss the physical properties of water and how pressure drop
due to friction is calculated using the various formulas, In addition, to-
tal pressure required and an estimate of the power required to transport
water in pipelines will be covered, Some cost comparisons for economic
transportation of various pipeline systems will also be discussed.

1.1 Properties of Water

1.1.1 Mass and welght

Mass is defined as the quantity of matter. It is measured in slugs (slug)
in U.S. Customary System (USCS) units and kilograms (kg) in Systéme
International (SI} units. A given mass of water will oceupy a certain
volume at a particular temperature and pressure. For example, a mass
of water may be contained in a volume of 500 cubic feet (ft) at a temper-
ature of 60°F and a pressure of 14.7 pounds per square inch (1b/in? or
psi), Water, like most liquids, is considered incompressible. Therefore,
pressure and temperature have a negligible effect on its volume. How-
ever, if the properties of water are known at standard conditions such
as 60°F and 14.7 psi pressure, these properties will be slightly different
at other temperatures and pressures. By the principle of conservation
of mass, the mass of a given quantity of water will remain the same at
all temperatures and pressures.
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Weight is defined as the gravitational force exerted on a given mass
at a particular location. Hence the weight varies slightly with the geo-
graphic location. By Newton’s second law the weight is simply the prod-
uct of the mass and the acceleration due to gravity at that location. Thus

where W = weight, Ib
m = mass, slug
g = acceleration due to gravity, ft/s?

In USCS units g is approximately 32.2 fi/s?, and in ST units it is
9,81 m/s2. In SI units, weight is measured in newtons (N) and mass
is measured in kilograms. Sometimes mass is referred to as pound-
mass (lbm) and force as pound-force (Ibf} in USCS units. Numerically
we say that 1 1bm has a weight of 1 1bf,

1.1.2 Denslty and speclfic weight

Denasity is defined as mass per unit volume. It is expressed as slug/ft?
in USCS units. Thus, if 100 ft* of water has a mass of 200 slug, the
density is 200/100 or 2 slug/ft®. In SI units, density is expressed in
kg/m?. Therefore water is said to have an approximate density of 1000
kg/m3at room temperature.

Specific weight, also referred to as weight density, is defined as the
weight per unit velume. By the relationship between weight and mass
discussed earlier, we can state that the specific weight is as follows:

y =08 (12)

where y = specific weight, 1b/ft?
p = density, slug/ft3
g = acgeleration due to gravity

The volume of water is usually measured in gallons (gal) or cubic
ft (ft%) in USCS units. In ST units, cubic meters (m?®) and liters (L) are
used. Correspondingly, the flow rate in water pipelines is measured
in gallons per minute (gal/min), million gallons per day (Mgal/day),
and cubic feet per second (fi?/s) in USCS units. In SI units, flow rate
is measured in cubic meters per hour (m%/h) or liters per second (L/s).
One ft* equals 7.48 gal. One m®equals 1000 L, and 1 gal equals
3.786 L. A table of conversion factors for various units is provided in
App. A,

i
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Example 1.1 Water at 60°F fills a tank of volume 1000 ft* at atmospheric
pressure. If the weight of water in the tank is 81.2 tons, calculate its density
and specific weight,

Solution
. . .. weight 312 x2000 3
Specific weight = o = T 005 = 62.40 1b/ft
From Eq. (1.2) the density is
. . 9
Density = M 624 == 1,9879 slug/ft®

g 322

Example 1.2 A tank has a volume of 5 m® and contains water at 20°C.
Assuming a density of 890 kg/m?, calculate the weight of the water in the
tank. What is the specific weight, in N/m3 uging a value of 9.81 mw/e? for
gravitational acceleration?

Solution
Mass of water = volume x density = 5 x 990 = 4950 kg
Weight of water = mass x g = 4950 x 9.81 = 48,559.5 N = 48.56 kN

weight  48.56

= = 9,712 N/m?
volume b

Specific weight =

1.1.3 Specific gravity

Specific gravity is a measure of how heavy a liquid is compared to water.
It is a ratio of the density of a liquid to the density of water at the same
temperature. Since we are-dealing with water only in this chapter, the
specific gravity of water by definition is always equal to 1.00.

1.1.4 Viscosity

Viscosity is a meagure of a liquid’s resistance to flow. Each layer of water
flowing through a pipe exerts a cortain amount of frictional resistance to
the adjacent layer. This is illustrated in the shear stress versus velocity
gradient curve shown in Fig, 1,1a. Newton proposed an equation that
relates the frictional shear stress between adjacent layers of flowing
liquid with the velocity variation across a section of the pipe as shown
in the following:

Shear stress = x x velocity gradient

or

T = = (1.3)
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Figure .1 Shear stress versus velocity gradient curve.

Velocity gradient

where 1t = shear stress
4 = absolute viscosity, (Ib - s)/ft? or slug/(ft . )
D _ velocity gradiont
c_ﬂ;-y_ == yelocity gradien
The proportionality constant 4 in Eq. (1.8)is referred to as the absolute
viscosity or dynamic viscosity, In SI units, x4 is expressed in poise or
centipoise (cP). A
The viscosity of water, like that of most liquids, decreases with an
increase in temperature, and vice versa, Under room temperature con-
ditions water has an absolute viscosity of 1 cP.
Kinematic viscosity is defined as the absolute viscosity divided by the
density. Thus

N (1.4)
0

where v = kinematic viscosity, ft%/s
= abgolute viscosity, (b- s)/ft? or slug/ft. s)
o = density, slug/ft?

In SI units, kinematic viscosity is expressed as stokes or centistokes
(eSt). Under room temperature conditions water has a kinematic vis-
cosity of 1.0 cSt. Properties of water are listed in Table 1.1,

Example 1.3 Water has a dynamic viscosity of 1 ¢P at 20°C. Calculate the
kinematic viscosity in SI units.

Solution
ahsolute viscosity p

density p
1.0 %1072 x 0.1 (N s)¥m®
1.0 x 1000 kg/m®

Kinematic viscosity =

= 1078 m%s

gince LON = 1.0 (kg  m)/s2,

Bt T AP
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TABLE 1.1 Properties of Water at Atmospheric Pressure

——

Temperature Density Specific weight Dynemic viscosity Vapor pressure
°F slug/itd 1/t (Ib - m)/ft% psia
USCS units
32 1.94 62.4 3.75 x 1076 0.08
40 1.94 62.4 3.24 x 1075 0.12
50 1.94 62.4 2.74 % 10-5 0.17
60 1.94 62.4 2.36 x 106 0.26
70 1.94 62.3 2.04 x 1078 0.36
80 1.93 62.2 1,80 x 10-% 0.51
90 1.93 62.1 1.59 x 10~F 0.70
100 1.93 62.0 1.42 x 10°F 0.98
Temperature Dansity Bpecific weight Dynamic viscosity Vapor pressure
°¢ lg/m? kN/m? (N 8)/m? kPa
SI units
0 1000 9.81 175 x 1078 0.611
10 1000 9.81 1.30 x 108 1.230
20 998 9,79 1.02 x 10°2 2.340
30 996 977 8.00 x 104 4.240
40 992 9.73 6.51 x 1074 . 7.380
50 988 9,69 5.4l x 1074 12.300
60 984 9.65 4.80 x 107% 12,900
70 978 9.59 4,02 x 10~4 31.200
80 971 9.58 8.50 x 10~4 47.400
50 965 9.47 3.11 x 104 70.100
100 958 0.40 2.82 x10-4 101.300

1.2 Pressure

Pressure is defined as the force per unit area. The pressure at a location
in a body of water is by Pascal’s law constant in all directions. In USCS
units pressure is measured in Ib/in? (psi), and in SI units it is expressed
as N/m? or pascals (Pa). Other units for pressure include [b/ft2, kilopas-
cals (kPa), megapascals (MPa), kg/ecm?, and bar, Conversion factors are

listed in App. A,

Therefore, at a depth of 100 ft below the free surface of a water tank
the intensity of pressure, or simply the pressure, is the force per unit
area, Mathematically, the column of water of height 100 ft exerts a force
equal to the weight of the water column over an area of 1 in?. We can
calculate the pressures as follows:

Pressure =

weight of 100-ft column of area 1.0 in®

1.0 in®

100 x (1/144) x 62.4

1.0
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In this equation, we have assumed the specific weight of water to be
62.4 1b/ft3. Therefore, simplifying the equation, we obtain

Pressure at a depth of 100 ft = 43.33 Ib/in® (psi)
A general equation for the pressure in a liquid at a depth 2 is

P=yh (L.5)

where P = pregsure, psi
y = specific weight of liquid
A = liguid depth

Variable y may also be replaced with pg where p is the density and g
is gravitational acceleration.

Generally, pressure in a body of water or a water pipeline is referred
to in psi above that of the atmospheric pressure. This is also known
as the gauge pressure as measured by a pressure gauge. The absolute
pressure is the sum of the gauge pressure and the atmospheric pressure
at the specified location. Mathematically,

Pabs = Pgauge + Patm (1.6)

To distinguish between the two pressures, psig is used for gauge pres-
sure and psia is used for the absolute pressure. In most calculations
involving water pipelines the gauge pressure is used. Unless otherwise
specified, psi means the gauge pressure.

Liquid pressure may also be referred to as head pressure, in which
case it is expressed in feet of liquid head (or meters in SI units). There-
fore, a pressure of 1000 psi in a liquid such as water is said to be equiv-
alent to a pressure head of

1000 x 144

h 62.4

= 2308 ft

In a more general form, the pressure P in psi and liquid head A in
foet for a specific gravity of Sg are related by

hx Sg
2.31

P = (1.7

where P = pressure, psi
h = liquid head, ft
Sg = specific gravity of water
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In ST wnits, pressure P in kilopascals and head & in meters are related
by the following equation:

hx 8g

P= 5755

(1.8)

Example 1.4 Caleulate the pressure in psi at & water depth of 100 fi assum-
ing the specific weight of water iz 62.4 1b/ft3, What is the equivalent pressure
in kilopascals? If the atmospheric pressure is 14.7 psi, caleulate the absolute
pressure at that location.

Solution Using Eq. (1.5}, we calculate the pressure:

P =yh=62.410/6% x 100 ft = 6240 Ih/&2

6240 ., , .
= il b/in® = 43.33 psig
Absolute presgure = 43.33 + 14.7 = 58,03 psia

In SI units we can caleulate the pressures as follows:

2.2025
= 2,992 x 105 kg m)/(s® . m?)
= 2.992 x 10° N/m? = 299.9 kPy

Pregsure = 62,4 » —-3—(3.281)3 leg/m® (%m) (9.81 m/s?)

Alternatively,

preasure in psi
0.145

. 43.83

T 0.145

The 0.1 percent discrepancy between the values is due to conversion factor
round-off,

Pregsure in kPa, =

= 208.83 kPa

1.3 Velocity

The velocity of flow in a water pipeline depends on the pipe size and flow
rate, If the flow rate is uniform throughout the pipeline (steady flow),
the velocity at every cross section. along the pipe will be a constant value,
However, there is a variation in velocity along the pipe cross section,
The velocity at the pipe wall will be #er, increasing to a maximum at
the centerline of the pipe. This is illustrated in Fig. 1,1b.

We can define a bulk velocity or an average velocity of flow as follows:

flow rate

Velogity s e
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Considering a circular pipe with an ingide diameter D and a flow rate
of Q, we can calculate the average velocity as

Q

Employing consistent units of flow rate ¢ in ft3/s and pipe diameter in
inches, the velocity in ft/s is as follows:

144Q
V= nD2j4

or

Q@
V= 183.3461—D—2 (1.10
where V = velocity, fi/s
Q = flow rate, ft%/s
D = ingide diameter, in

Additional formulas for velocity in different units are as follows:

V = 0.4085-% (1.11)

D2
where V = velocity, ft/s

® = flow rate, gal/min

D == ingide diameter, in

In SI units, the velocity equation is as follows:

Q
V= 353'6777ﬁ | (1.12)
where V = velocity, m/s
) = flow rate, m%h
D =inside diameter, mm

Example 1.5 Water flows through an NPS 16 pipeline (0.260-in wall thick-
ness) at the rate of 3000 gal/min, Calculate the average velocity for steady
flow. (Note; The designation NP8 16 means nominal pipe size of 16 in.)

Solution From Eq. (1.11), the average flow velocity is

3000
15.52

V = 04085 = 5,10 ft/s

Example 1.8 Water flows through a DN 200 pipeline (10-mm wall thickness)
at the rate of 75 L/s. Caleulate the average velocity for steady flow.

5
o
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solution The designation DN 200 means metric pipe size of 200-mm outside

diameter. It corresponds to NPS 8 in USCS units, From Eq. (1.12) the average

flow velocity is

75 x 60 x 60 x 168
1802

V = 363.6777 ( ) = 2.95 m/s

The variation of flow velocity in a pipe depends on the type of flow.
In laminar flow, the velocity variation is parabolic. As the flow rate be-
comes turbulent the velocity profile approximates a trapezoidal shape.
Both types of flow are depicted in Fig. 1.15. Laminar and turbulent
flows are discussed in Sec. 1.5 after we introduce the concept of the
Reynolds number.

1.4 Reynolds Number

The Reynolds number is a dimensionless parameter of fiow. It depends
on the pipe size, flow rate, liquid viscosity, and density. It is calculated
from the following equation:

_VDp

R (1.13)
I
or
Re Kv? (1.14)

where B = Reynolds number, dimensionless
V' = average flow velocity, fi/s
D = ingide diameter of pipe, ft
p = mass density of liquid, slug/ft®
u = dynamic viscosity, slug/(ft. g)
v = kinematic viscosity, ft3/s

Since R must be dimensionless, a consistent et of units must be used
for all items in Eq. (1.13) to ensure that all units cancel out and R has
no dimensions.

Other variations of the Reynolds number for different units are as
follows:

R= 3162.5E (1.15)

Dv

where R = Reynolds number, dimensionless
€ = flow rate, gal/min
D =inside diameter of pipe, in
v = kinematic viseosity, ¢St
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In ST units, the Reynolds number is expressed as follows:

R= 353,678—2 (1,16)
vD

where R = Reynolds number, dimensionless
@ = flow rate, m*/h ‘
D = inside diameter of pipe, mm
v = kinematic viscogity, o5t

Example 1.7 Water flows thronugh a 20-in pipeline (0.37 5ein wall thickness)
at 6000 gal/min. Calculate the average velocity and Reynolds number of flow.
Assume water has a viscosity of 1.0 ¢St

Solution Using Eq. (1.11}, the average velocity is calculated as follows:

8000
=), Aoy o 4
V = 04086 s = 6611

From Eq. (1.15), the Reynolds nuraber is

6000
R= 3162.5m = 985,714

Example 1.8 Water flows through a 400-mm pipeline (10-mm wall thick-
ness) at 640 m%h. Calculate the average velocity and Reynolds number of
flow. Assume water has a viscosity of 1.0 ¢St.

Solution From Eq. (1.12) the average velocity is
640

= 353. e 2 1,
V =358 6‘7773802 1.57 m/s
From Eq. (1.16) the Reynolds number i
640
= 3p8 [ e
R=3b ,G'ISSBOX i 595,668

1.5 . Types of Flow

Flow through pipe can be classified as laminar flow, turbulent flow, or
critical flow depending on the Reynolds number of flow. If the flow is
guch that the Reynolds number s Jess than 2000 to 2100, the flow is
said to be laminar. When the Reynelds number is greater than 4000,
the flow is said to be turbulent. Critical flow occurs when the Reynolds
number is in the range of 2100 to 4000. Laminar flow is characterized by
smooth flow in which no eddies or turbulence are visible. The flow is said
to occur in laminations. If dye was injected into a transparent pipeline,
laminar flow would be manifested in the form of smooth streamlines
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of dye. Turbulent flow occurs at higher velocities and is accompanied
by eddies and other disturbances in the liquid, Mathematically, if R
represents the Reynolds number of flow, the flow types are defined as
follows:

Laminar flow: R <2100
Critical flow: 2100 < R < 4000
Turbulent How: R = 4000

In the critical flow regime, where the Reynolds number is between 2100
and 4000, the flow is undefined as far as pressure drop calculations are
concerned.

1.6 Pressure Drop Due to Friction

As water flows through a pipe there is friction between the adjacent lay-
ers of water and between the water molecules and the pipe wall. This
friction causes energy to be lost, being converted from pressure energy
and kinetic energy to heat. The pressure continuously decreases as
water flows down the pipe from the upstream end to the downstream
end. The amount of pressure loss due to friction, also known as head
loss due to friction, depends on the flow rate, properties of water (spe-
cific gravity and viscosity), pipe diameter, pipe length, and internal
roughness of the pipe, Before we discuss the frictional pressure loss in
a pipeline we must introduce Bernoulli’s equation, which is a form of
the energy equation for liquid flow in a pipeline,

1.8.1 Bernoulll's equation

Bernoulli's equation is another way of stating the principle of conser-
vation of energy applied to liquid flow through a pipeline. At each point
along the pipeline the total energy of the liquid is computed by tak-
ing into consideration the liquid energy due to pressure, velocity, and
elevation combined with any energy input, energy output, and energy
losses. The total emergy of the liquid contained in the pipeline at any
point is a constant. This is also known as the principle of conservation
of energy.

Consider a liquid flow through a pipeline from point A to point B as
shown in Fig. 1.2. The elevation of point A ig Z, and the elevation at B
is Zp above some common datum, such as mean sea level. The pressute
at point Ais P4 and that at Bis Pg. It is assumed that the pipe diameter
at A and B are different, and hence the flow velocity at A and B will
be represented by V, and Vg, respectively. A particle of the liquid of
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Pressure Pg

Pressure Py

Zp

Datum for elevations

Figure 1.2 Total energy of water in pipe flow.

unit weight at point A in the pipeline possesses a total energy E which
congists of three components:

Potential energy = Z4

Py
Pressure energy == -4
_ Y

Kinetic energy = E i
where y is the specific weight of liquid.
Therefore the total energy E is

2
E=z44 54 YA ain
y 2
Since each term in Eq. (1,17) has dimensions of length, we refer to the
total energy at point A as Hy in feet of liquid head. Therefore, rewriting
the total energy in feet of liquid head at point A, we obtain

Py Vu?
Hy=Zs+ 2+ 2 (1.18)
Yy 2
Similarly, the same unit weight of liquid at point B has a total energy
per unit weight equal to Hp given by

Py V32
Hy=Zp+-2 422 (1.19)
14 2g

By the principle of conservation of energy

Hy = Hpg (1.20)
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Therefore,

IRAS Pg  Vp?
o+ 2 A gy B 1B (1.21)
y v 2%

In Eq. (1.21), referred to as Bernoulli’s equation, we have not consid-
ered any energy added to the liquid, energy taken out of the liquid, or
energy losses due to friction. Therefore, modifying Eq. {(1.21) to take
into account the addition of energy (such as from a pump at A) and
accounting for frictional head losses 4, we get the more common form
of Bernoulli’s equation as follows:

Py V2 Pp Vg
Zat+ 2+ A H=Zp+ 2L B g (1.22)
Yy  2g Yy 2

where Hp is the equivalent head added to the liquid by the pump at
A and hy represents the total frictional head losses between points A
and B,

We will next discuss how the head loss due to friction /; in Bernoulli’s
equation is caleulated for various conditions of water flow in pipelines.
We begin with the classical pressure drop equation known as the Darey-
Weishach equation, or simply the Darcy equation.

1.6.2 Darcy equation

The Darcy equation, also called Darcy-Weisbach equation, is one of the
oldest formulas used in classical fluid mechanics. Tt can be used to cal-
culate the pressure drop in pipes transporting any type of fluid, such
a8 a liquid or gas,

As water flows through a pipe from point A to point B the pressure
decreases due to friction between the water and the pipe wall. The Darcy
equation may be used to calculate the pressure drop in water pipes as
follows:

Lv?

h= fﬁ P (1.23)

where h = frictional pressure loss, ft of head
f = Darcy friction factor, dimensionless
L = pipe length, ft
D = ingide pipe diameter, f%
V = average flow velocity, ft/s
& = acceleration due to gravity, fi/s?

In USCS units, g = 32.2 ft/s?, and in SI units, g = 9.81 m/s2.
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Note that the Darcy equation gives the frictional pressure loss in
foet of head of water. It can be converted to pressure logs in psi using
Eq. (1.7). The term V 2/2g in the Darcy equation is called the velocity
head, and it represents the kinetic energy of the water. The term velocity
head will be used in subsequent sections of this chapter when discussing
frictional head loss through pipe fittings and valves.

Another form of the Darey equation with frictional pressure drop
expressed in psi/mi and using a flow rate instead of velocity is as follows:

fQ*
P, = 71.16—i-)~g~ (1.24)
where P, = frictional pressure loss, psi/mi
f = Darcy friction factor, dimensionless
@ = flow rate, gal/min
D = pipe inside diameter, in

In SI units, the Darcy equation may be written as

2
h = 50.94 fLv (1.25)
D
where A == frictional pressure loss, meters of liquid head
f = Darcy friction factor, dimensionless
L = pipe length, m
D = pipe inside diameter, mm
V = average flow velocity, m/s
Another version of the Darcy equation in SI units is as follows:
10y F @
Py = (6.2475 % 10*") (1.26)

b

where Py, = pressure drop due to friction, kPa/km
@ = liquid flow rate, m%/h
f = Darcy friction factor, dimensionless
D = pipe ingide diameter, mm

In order to calculate the friction loss in a water pipeline using the
Darcy equation, we must know the friction factor f. The friction factor
f in the Darcy equation is the only unknown on the right-hand side
of Eq. (1.23). This friction factor is a nondimensional number between
0.0 and 0.1 (usually around 0.02 for turbulent flow} that depends on
the internal roughness of the pipe, the pipe diameter, and the Reynolds
number, and therefore the type of flow (laminar or turbulent).

&
&
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For laminar flow, the friction factor f depends only on the Reynolds
number and is calculated as follows:

64
f= B (1.27

where f is the friction factor for laminar flow and R is the Reynolds
number for laminar flow (R < 2100) (dimensionless).

Therefore, if the Reynolds number for a particular flow is 1200, the
friction factor for this laminar flow is 64/1200 = 0.0533. If this pipeline
has a 400-mm inside diameter and water flows through it at 500 m®/h,
the pressure loss per kilometer would be, from Eq, (1.26),

(500)2
~ (40005
If the flow is turbulent (R > 4000), calculation of the friction factor

is not as gtraightforward as that for laminar flow. We will discuss this
next.

Py = 6.2475 x 10%° x 0.0533 x = 81.8 kPa/km

1.6.3 Colebrook-White equation

In turbulent flow the calculation of friction factor f is more complex. The
friction factor depends on the pipe inside diameter, the pipe ronghness,
and the Reynolds number. Based on work by Moody, Colebrook-White,
and others, the following empirical equation, known as the Colebrook-
White equation, has been proposed for calculating the friction factor in

turbulent flow:
1 logyo ( : 251 ) (1.28)

VF 570 " B/F

where f = Darey friction factor, dimensionless
D = pipe ingide diameter, in
e = absolute pipe roughness, in
R = Reynolds number, dimensionless

The absolute pipe roughness depends on the internal condition of
the pipe. Generally a value of 0.002 in or 0.05 mm is used in most
caleulations, unless better data are available. Table 1.2 lists the pipe
roughness for various types of pipe. The ratio e/D is known as the
relative pipe roughness and is dimensionless since both pipe absolute
roughness e and pipe instde diameter D are expressed in the same units
(inches in USCS units and millimeters in SI units). Therefore, Bq. (1.28)
remaing the same for SI units, except that, as stated, the absolute pipe
roughness e and the pipe diameter D are both expressed in millimeters.
All other terms in the equation are dimensionless.




16 Chapter One

TABLE 1.2 Pipe Internal Roughness

Roughnegs

Pipe material in mm
Riveted steel 0.035-0.35 0.2-9.0
Commercial steel/welded steel (.0018 0.045
Cagt iron 0.010 0.26
Galvanized iron 0.006 0.15
Agphalted cast iron 0,0047 0.12
Wrought iron 0.0018 0.045
PVC, drawn tubing, glass 0.000059 0.0015
Concrete 0.0118-0.118 0.3-3.0

It can be seen from Eq. (1.28) that the calculation of the friction factor
{ is not straightforward since it appears on both sides of the equation.
Successive iteration or a trial-and-error approach is used to solve for
the friction factor.

1.6.4 Moody diagram

The Moody diagram is a graphical plot of the friction factor f for all flow
regimes (laminar, critical, and turbulent ) against the Reynolds num-
ber at various values of the relative roughness of pipe. The graphical
method of determining the friction factor for turbulent flow using the
Moody diagram (see Fig, 1.3) iz discussed next.

For a given Reynolds number on the horizontal axis, a vertical line
is drawn up to the curve representing the relative roughness e¢/D. The
friction factor is then read by going horizontally to the vertical axis
on the left. It can be seen from the Moody diagram that the turbulent
region is further divided into two regions: the “transition zone” and
the “complete turbulence in rough pipes” zone. The lower boundary is
designated as “smooth pipes,” and the transition zone extends up to
the dashed line. Beyond the dashed line is the complete turbulence in
rough pipes zone. In this zone the friction factor depends very little
on the Reynolds number and more on the relative roughness. This is
evident from the Colebrook-White equation, where at large Reynolds
numbers, the second term within the parentheses approaches zero. The
friction factor thus depends only on the first term, which is proportional
to the relative roughness e/D. In contrast, in the transition zone both
R and e/ D influence the value of friction factor f.

Example 1.9 Water flows through a 16-in pipeline (0.375-in wall thickness)
at 3000 gal/min. Assuming a pipe roughness of 0.002 in, calculate the friction
factor and head loss due to frietion in 1000 ft of pipe length.
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Solution Using Eq. (1.11) we calculate the average flow velocity:

3000
— 0.4085 ... = 5.27 &/
v (15.25)2 ®

Using Eq. (1.16) we caleulate the Reynolds number as follows:

3000
R= 3162.5m = 622,181

Thus the flow is turbulent, and we can use the Colebrook-White equation
(1.28) to calculate the friction factor.

L oleg 0002 251
VT WA\BTX15.25 ' 622,131/F

This equation must be solved for f by trial and error, First assume that
f = 0.02, Substituting in the preceding equation, we get a better approxi-
mation for f as follows:

RN 0002 251
7" €10 \ 375 15.25 ' 622,131,/0.02

Recaleulating vsing this value

) or f=0.0142

1 0.002 2.51
S ) | + or == {),0145
g e (3.7 x 16.25 (622,131«/__0.0142) !
and finally '

R 0002 251
S BO\3Tx1525 T 622,181/0.0145

Thus the friction factor is 0.0144. (We could also have used the Moody dia-
gram to find the friction factor graphically, for Reynolds number R = 622,131
and e/D = 0.002/15.25 = 0.0001, From the graph, we get f = 0.0145, which
is ¢lose enough.)

The head loss due to friction can now be calculated using the Darcy equa-
tion (1.23).

) or f=0.0144

1000 x 12 5.272
= 4 jasan
h =0.0144 595 o 4.89 fi; of head of water

Converting to psi using ¥q. (1.7), we get

4,89 x 1.0

Pregsure drop due to friction = 531

= 2,12 psi

Example 1.10 A concrete pipe (2-m inside diameter) is used to transport
water from a pumping facility to a storage tank 5 km away, Neglecting any
difference in elevations, calculate the friction factor and pressure loss in
kPa/lkm due to friction at a flow rate of 34,000 m3/Mh. Assume a pipe roughness
of 0.05 mm. If a delivery pressure of 4 kPa must be maintained at the delivery
point and the storage tank is at an elevation of 200 m above that of the
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pumping facility, calculate the pressure required at the pumping faé_i}_i_t'y_. at -
the given flow rate, using the Moody diagram. TR

Solution The average flow velocity is caleutated using Eq. (1.12).

34,000
Vo 353.6777W = 3.01 m/s

Next using Eq. (1.16}, we get the Reynolds number as follows:
34,000
1.0 x 2000

Therefore, the flow is turbulent. We can use the Colebrook-White equation or
the Moody diagram to determine the friction factor. The relative roughness
is

R = 358,678 = 6,012,526

- .29(')_‘(’.)% = 0,00008

Using the obtained values for relative roughness and the Reynolds number,
from the Moody diagram we get friction. factor f = 0.01.

The presgure drop due to friction can now be caleulated using the Darcy
equation (1.23) for the entire 5-km length of pipe as

5000  3.01%
e O.OI%H 308" 11.84 m of head of water
Using Eq. (1.8) we calculate the presgure drop in kilopaseals as
Total pressure drop in 5 km = W = 113,14 kP’a
Therefore,
113.14

Preasure drop in kPa/km == — 22.63 kPa/km

The pressure required at the pumping facility is calculated by adding the
following three items!
1. Pressure drop due to friction for 5-kum length,

2. The static elevation difference betwoen the pumping facility and storage
tank.

3. The delivery pressure required at the storage tank,
We can also state the caleulation mathematically.
b= Pf + Foigy + Fiel (1.29)

where P; = total pressure required at pump
Py = frictional pressure head
Folev = pressure head due to elevation difference
Faer = delivery pressure at storage tank
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All pressures must be in the same units: either meters of head or kilopascals,
| P, = 113.14 cPa + 200 m -+ 4 kPa

Changing all units to kilopascals we get

200 x 1.0

Therefore, the pressure required at the pumping facility is 2078 kPa.

1.6.5 Hazen-Williams equation

A more popular approach to the calculation of head loss in water piping
systems is the use of the Hazen-Williams equation. In this method a
coefficient C known as the Hazen-Williams C factor is used to account
for the internal pipe roughness or efficiency. Unlike the Moody diagram
or the Colebrook-White equation, the Hazen-Williams equation does not
require use of the Reynolds number or viscosity of water to calculate
the head loss due to friction.
The Hazen-Williams equation for head loss is expressed as follows:

B 4.73 L( Q/c)l.asz

h D487

(1.30)

where h = frictional head loss, ft
L =length of pipe, ft
D = inside diameter of pipe, ft
@ = flow rate, ft®/s
C = Hazen-Williams C factor or roughness coefficient,
dimensionless

Commuonly used values of the Hazen-Williams C factor for various ap-
plications are listed in Table 1.3.

TABLE 1.3 Hazen-Williams C Factor

Pipe material C factor
Smooth pipes {all metals} 130-140
Cast iron {old) 100
[ron {worn/pitted) 60-80
Polyvinyl chloride (PVC) 150
Brick 100
Smooth wood 120
Smooth masenry 120

Vitrified clay 110
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On examining the Hazen-Williamas eqguation, we see that the head
loss due to friction is caleulated in feet of head, similar to the Darcy
equation. The value of 4 can be converted to psi using the head-to-psi
conversion [Eq. (1.7)]. Although the Hazen-Williams equation appears
to be simpler to use than the Colebrook-White and Darcy equations to
calculate the pressure drop, the unknown term C can cause uncertain-
ties in the pressure drop caleculation.

Usually, the C factor, or Hazen-Williams roughness coefficient, is
pased on experience with the water pipeline system, such as the pipe
material or internal condition of the pipeline system. When designing
a new pipeline, proper judgment must be exerciged in chooging a C
factor since considerable variation in pressure drop can occur by se-
lecting a particular value of C' compared to another. Because of the
inverse proportionality effect of C' on the head loss &, using € = 140
instead of C = 100 will result in a [1 — (%)1'852] or 46 percent lesg
pressure drop. Therefore, it is important that the € value be chosen
judiciously.

Other forms of the Hazen-Williams equation using different units
are discussed next. In the following formulas the presented equations
calculate the flow rate from a given head loss, or vice versa.,

In USCS units, the following forms of the Hazen-Williams equation
are used.

Q = (B.755 x 10383 p054 (1.31)
1.852

h = 10,460 (g) .—5%7 (1.32)
1.852

P. = 23,909 (%) 5‘% (1.83)

where @ = flow rate, gal/min
h = friction loss, ft of water per 1000 ft of pipe
B, = friction logs, psi per mile of pipe
D =inside diameter of pipe, in
C = Hazen-Williams C factor, dimengionless (see Table 1.3)

In S1 units, the Hazen-Williams equation is expressed as follows:

0.54
Q@ = (9.0379 x 10~%)op2 e (%4"?) (1.34)

1.852 Sg

e (1.35)

Pin = 1.1101 x 103 (—g)
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where @ = flow rate, m*/h
D = pipe inside diameter, mm
Py = frictional pressure drop, kPa/km
Sg = liquid specific gravity (water = 1.00)
C = Hazen-Williams C factor, dimensionless (see Table 1.3}

1.6.6 Manning equation

The Manning equation was originally developed for use in open-channel
flow of water. It is also sometimes used in pipe flow. The Manning equa-
tion uses the Manning index n, or roughness coefficient, which like the
Hazen-Williams C factor depends on the type and internal condition
of the pipe. The values used for the Manning index for common pipe
materials are listed in Table 1.4.

The following is a form of the Manning equation for pressure drop
due to friction in water piping systems:

1/2
Q= 1;‘;‘?,? ARYS (%) - (1.36)

where § = flow rate, ft%/s
A = cross-sectional area of pipe, fi
R == hydraulic radius = [}/4 for circular pipes flowing full
n = Manning index, or roughness coefficient, dimensionless
D = ingide diameter of pipe, &
h = friction loss, ft of water
L = pipe length, ft

TABLE 1.4 Manning Index

Repistbnoe

Pipe material factor
PVC 0.009
Very smooth 0.010
Cement-lined ductile iron 0.012
New cast iron, welded stesl 0.014
0ld cast iron, brick 0.020
Badly corroded cast iron 0.085
Wood, concrete 0.016
Clay, new riveted steel 0.017
Canals cut through rock 0.040
Earth canals average condition .023

Rivers in goed conditions 0.080
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[n ST units, the Manning equation is expressed ag follows:

1/2 .
Q = »1~AR2/3 (E) (1.37
n L

where @ = flow rate, m3/s
A = cross-sectional area of pipe, m?
R =hydraulic radius = D/4 for circular pipes flowing full
n = Manning index, or roughness coefficient, dimensionless
D = inside diameter of pipe, m
h = friction loss, ft of water
L = pipe length, m

Example 1.11  Water flows through a 16-in pipeline (0.375-in wall thickness)
at 3000 gal/min. Using the Hazen-Williams equation with a C factor of 120,
calculate the pressure loss due to friction in 1000 ft of pipe length.

Solutlon First we calculate the flow rate uging Bq, (1.31):
@ = 6.755 x 1072 x 120 x (15.25)26350.54

where ki is in feet of head per 1000 ft of pipe.
Rearranging the preceding equation, using @ = 3000 and solving for h, we
got

RO54 _ 3000
6.7565 x 103 x 120 x (15,25)%63
Therefors, '
h = 7.0 ft per 1000 ft of pipe
7.0x 1.0
2.31 .
Compare this with the same problem deseribed in Exampie 1.9, Using the
Colebrook-White and Darcy equations we caleulated the pressure drop to be
4.89 ft per 1000 ft of pipe. Therefore, we can conclude that the C value used
in the Hazen-Williams equation in this example is too low and hence gives
us & comparatively higher pressure drop, Therefore, we will recalculate the
pressure drop using a C factor = 140 instead.
05t _ 3000
6.755 x 103 x 140 x (15,25)2.68

Pressure drop = = 3.03 psi

: Therefore,

, h = 5.26 ft per 1000 ft of pipe

5.26 x 1.0
2.31

It can be seen that we are closer now to the results using the Colebrook-White
an_d Darcy equations. The result is still 7.6 percent higher than that obtained
Using the Colebrook-White and Darcy equations. The conclusion is that the

Pressure drop = = 2.28 psi
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C factor in the preceding Hazon-Williams calculation should probably be
slightly higher than 140. In fact, using a C factor of 146 will get the result
closer to the 4.89 ft per 1000 ft we got using the Colebrook-White equation.

Example 1.12 A concrete pipe with a 2-m inside diameter is used to trans-
port water from a pumping facility to a storage tank & km away. Neglecting
differences in elevation, calculate the pressure loss in kPa/km due to friction
at a flow rate of 34,000 m®M, Use the Hazen-Williams equation with a C
factor of 140. If a delivery pressure of 400 kPa must be maintained at the
delivery point and the storage tank is at an elevation of 200 m above that of
the pumping facility, calculate the pressure required at the pumping facility
at the given flow rate.

Solution The flow rate § in m3/h is calculated using the Hazen-Williams
equation (1.36) as follows:

1,852
34,000\ 1
P = (1,1101 x 1013 J - —
han = (11101 x )( 140 ) * [2000)487

= 24.38 kPa/lkm

The pressure required at the pumping facility is calculated by adding the
pregsure drop due to friction to the delivery pressure required and the static
alevation head between the pumping facility and storage tank using
Eq. (1.29).
b= Pf+Pelev+Pdal
== {94.38 x 5) kPa + 200 m + 400 kPa

Changing all units to kPa we get

200 x L0
P =1219+ 0703 + 400 = 2482.68 kPa

Thus the pressure required at the pumping facility is 2483 kPa.

1.7 Minor Losses

So far, we have calculated the pressure drop per unit length in straight
pipe. We also calculated the total pressure drop considering several
miles of pipe from a pump station to a storage tank. Minor losses in a
water pipeline are clagsified as those pressure drops that are associated
with piping components such as valves and fittings, Fittings include
elbows and tees. In addition there are pressure losses associated with
pipe diameter enlargement and reduction. A pipe nozzle exiting from
a storage tank will have entrance and exit losses. All these pressure
drops are called minor losses, as they are relatively small compared to
friction loss in a straight length of pipe.

Generally, minor losses are included in calculations by using the
equivalent length of the valve or fitting or using a resistance factor or
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TABLE 1.5 Equivalent Lengths of
yalves and Fittings

Description L/D

CGate valve 8
Globe valve 340
Angle valve 55
Ball valve 3
Plug valve straightway 18
Plug valve 3-way through-flow 30
Plug valve branch flow 90
gwing check valve 100
1ift check valve 800
Standard olhow

90° 30

46° " 18

Long radiug 90° 16 -
Standard tee

Through-flow 20

Through-branch 60
Miter bends

a=0 2

a =30 8

o = 60 25

o=9% a0

K factor multiplied by the velocity head V2/2g. The term minor losses
can be applied only where the pipeline lengths and hence the friction
losses are relatively large compared to the pressure drops in the fittings
and valves. In a situation such as plant piping and tank farm piping
the pressure drop in the straight length of pipe may be of the same
order of magnitude as that due to valves and fittings. In such cases the
term minor losses is really a misnomer. In any case, the pressure losses
through valves, fittings, etc., can be accounted for approximately using
the equivalent length or K times the velocity head method. It must
be noted that this way of calculating the minor losses is valid only in
turbulent flow. No data are available for laminar flow.

1.7.1  Valves and fiitings

Table 1.5 shows the equivalent lengths of commonly used valves and
fittings in a typical water pipeline. It can be seen from this table that a
gate valve has an L/D ratio of 8 compared to straight pipe. Therefore, a
20-in-diameter gate valve may be replaced with a 20 x 8 = 160-in-long
piece of pipe that will match the frictional pressure drop through the
valve,

Example 1.13 A piping system is 2000 £ of NPS 20 pipe that has two
20-in gate valves, three 20-in ball valves, one swing check valve, and four
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90° standard elbows, Using the equivalent length concept, calculate the to-
tal pipe length that will include all straight pipe and valves and fittings.

Solution Using Table 1.5, we can convert all valves and fittings in terms of
20-in pipe as follows:

Two 20-in gate valves = 2 x 20 x & = 320 in of 20-in pipe
Three 20-in ball valves = 8 x 20 x 3 = 180 in of 20-in pipe
One 20-in swing check valve = 1 x 20 x 50 = 1000 in of 20-in pipe
Four 90° elbows = 4 x 20 x 30 = 2400 in of 20-in pipe
Total for all valves and fittings = 4220 in of 20-in pipe
= 361.67 ft of 20-in pipe

Adding the 2000 f of straight pipe, the total equivalent length of straight
pipe and all fittings is

L. = 2000 + 351.67 == 2351.67 ft

The pressure drop due to friction in the preceding piping system can
now be calculated bhased on 2351.67 ft of pipe. It can be seen in this
example that the valves and fittings represent roughly 15 percent of
the total pipeline length, In plant piping this percentage may be higher
than that in a long-distance water pipeline. Hence, the reason for the
term minor losses. :

Another approach to accounting for minor losses is using the resis-
tance cosfficient or K faetor. The K factor and the velocity head approach
to calculating pressure drop through valves and fittings can be analyzed
as follows using the Darcy equation. From the Darcy equation (1.23),
the pressure drop in a straight length of pipe is given by

The term f(L/D) may be substituted with a head loss coefficient K (also

known as the resistance coefficient) and Fg. (1.38) then becomes
2

h=KY- (1.39)

2g -

In Eq. (1.39), the head loss in a straight piece of pipe is represented

as a multiple of the velocity head V 2/2g. Following a similar analysis,

we can state that the pressure drop through a valve or fitting can also

be represented by K(V 2/2g), where the coefficient K is specific to the

valve or fitting, Note that this methed is only applicable to turbulent

flow through pipe fittings and valves. No data are available for laminar

flow in fittings and valves, Typical K factors for valves and fittings are

listed in Table 1.6. It can be seen that the K factor depends on the
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nominal pipe size of the valve or fitting. The equivalent length, on the
other hand, is given as a ratio of L/D for a particular fitting or valve,

From Table 1.6, it can be seen that a 6-in gate valve has a K factor of
0.12, while a 20-in gate valve has a K factor of 0.10. However, both sizes
of gate valves have the same equivalent length~to-diameter ratio of 8.
The head loss through the 6-in valve can be estimated to be 0.12 (V %/2g)
and that in the 20-in valve is 0.10 (V %/2g). The velocities in both cases
will be different due to the difference in diameters.

If the flow rate was 1000 gal/min, the velocity in the 6-in valve will
be approximately

1000

Similarly, at 1000 gal/min, the velocity in the 20-in valve will be ap-
proximately

1000
Therefore,
2
Head loss in 6-in gate valve = w =0.22 fi.
64.4
and
2
Head loss in 20-in gate valve = g-ml—%%—wfj)_ =0.002 ft

These head losses appear small since we have used a relatively low flow
rate in the 20-in valve, In reality the flow rate in the 20-in valve may be
as high as 6000 gal/min and the corresponding head loss will be 0.072 ft.

1.7.2 Plpe enlargement and reduction

Pipe enlargements and reductions contribute to head loss that can be
included in minor losses. For sudden enlargement of pipes, the following
head loss equation may be used:

2
hy = (1 —v2)” (1.40)

2g
where v1 and v; are the velocities of the liquid in the two pipe sizes D,
and D, respectively. Writing Eq. (1.40) in terms of pipe cross-sectional

areas A4 and Ag,
I__ Al 2 012 |

for sudden enlargement. This is illustrated in Fig, 1.4.
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Sudden pipe enlargement

Sudden pipe reduction
A4 000 Jo.10 Jo20 [0.80 Jo.40 [0.50 [0.60 [0.70 J0.80 [ 080 | 1.00 |
#’ﬁo.saslo.eaz@]o.eaz | 0.843 |o.659]0.681] 0.712 ] 0,76510.818] 0.802 | 1.000 |

Figure 1.4 Sudden pipe enlargement and reduction.

For sudden contraction or reduction in pipe size as shown in Fig. 1.4,
the head loss is calculated from
1 v? -
hep=|5-1)= 1.42
=z % (142

where the coefficient C. depends on the ratio of the two pipe cross-
sectional areas 4; and Ay as shown in Fig. 1.4.

Gradual enlargement and reduction of pipe size, as shown in Fig. 1.5,
cause less head loss than sudden enlargement and sudden reduction.
For gradual expansions, the following equation may be used:
_ Celvy — 02)2
=g

_lT//_T;Z
_NJ_

N D1_——\rn—

s
en _-_-/— —_—>

Figure 1.5 Gradual pipe enlargement and reduction.

hy (1.48)
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Figure 1.6 (radual pipe expansion head loss coefficient.

where C, depends on the diameter ratio o/ D; and the cone angle § in
the gradual expansion. A graph showing the variation of C; with § and
the diameter ratio is shown in Fig, 1.6.

1.7.3 Pipe entrance and exit losses

The K factors for computing the head loss associated with pipe entrance
and exit are ag follows:

0.5 for pipe entrance, sharp edged
K=4{10 for pipe exit, sharp edged
0.78 for pipe entrance, inward projecting

1.8 Compiex Piping Systems

So far we have discussed straight length of pipe with valves and fittings.
Complex piping systems include pipes of different diameters in series
and parallel configuration.

1.8.1 Series piping

Series piping in its simplest form congigts of two or more different pipe
sizes connected end to end as illustrated in Fig. 1.7. Pressure drop cal-
culations in series piping may be handled in one of two ways. The first
approach would be to calculate the pressure drop in each pipe size and
add them together to obtain the total pressure drop. Another approach
is to consider one of the pipe diameters as the base size and convert -
other pipe sizes into equivalent lengths of the base pipe size, The re-
sultant equivalent lengths are added together to form one long piece
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e — i s |
IDH . [Da T ES

Figure 1.7 Series piping.

of pipe of constant diameter equal to the base diameter selected, The
pressure drop can now be calculated for this single-diameter pipeline.
Of course, all valves and fittings will also be converted to their respec-
tive equivalent pipe lengths using the L/D ratios from Table 1.5.

Consider three sections of pipe joined together in series. Using sub-
scripts 1, 2, and 3 and denoting the pipe length as L, inside diameter
as D, flow rate as @, and velocity ag V, we can calculate the equivalent
length of each pipe section in terms of a base diameter, This base diam-
eter will be selected as the diameter of the first pipe section D;. Since
equivalent length is based on the same pressure drop in the equiva-
lent pipe as the original pipe diameter, we will calculate the equivalent
length of section 2 by finding that length of diameter D; that will match
the pressure drop in a length L of pipe diameter Ds. Using the Darcy
equation and converting velocities in terms of flow rate from Eq. (1.11),
we can write

2
Head loss = £/ D2(0.4085Q/ D) (1.44)
2g
For simplicity, assuming the same friction factor,
Le L2
Therefore, the equivalent length of section 2 based on diameter D is
Di\®
g = el 4
Lo=1Ls ( Dz) (1.46)
Similarly, the equivalent length of section 3 based on diameter D, is
PN :
o =Ly [ 22 4
L, =Ly ( Da) (147

The total equivalent length of all three pipe sections based on diameter
D1 is therefore :

D\® Di\®
ey ey — 1.
Lp= Ly + Ly (Dg) + Iy (D3> (1.48)
The total pressure drop in the three sections of pipe can now be calcu-
lated based on a single pipe of diameter Dy and length L.
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Example 1.14 'Three pipes with 14-, 16-, and 18-in diameters, respectively,
are connected in serias with pipe reducers, fittings, and valves as follows:
14-in pipeline, 0.250-in wall thickness, 2000 ft long

16-in pipeline, 0.875-in wall thickness, 3000 ft long

18-in pipeline, 0.375-in wall thickness, 5000 {t long

One 16 x 14 in reducer

One 18 x 16 in reducer

Two 14-in 90° elbows

Four 16-in 90° elbows

Six 18-in 90° elbows

One 14-in gate valve

One 16-in ball valve

One 18-in gate valve

{a) Use the Hazen-Williams equation with a C factor of 140 to calculate the
total pressure drop in the series water piping system at a flow rate of 3500
gal/min. Flow starts in the 14-in piping and ends in the 18-in piping.

(b) If the flow rate is increased to 6000 gal/min, estimate the new total
pressure drop in the piping system, keeping everything else the same.

Solution

{a) Since we are going to use the Hazen-Williams equation, the pipes in
series analysis will be based on the pressure loss boing inversely proportional
to D87, where D is the inside diameter of pipe, per Eq. (1.30).

We will first calculate the total equivalent lengths of all 14-in pipe, fittings,
and valves in terms of the 14-in-diameter pipe.

Straight pipe: 14 in., 2000 ft = 2000 ft of 14-in pipe

2 4
Two 14-in 90° elbows = J_E:}Q—x—l—— = 70t of 14-in pipe
One 14-in gate valve = -1-3—(—%;—1& = 9.33 ft of 14-in pipe

Therefore, the total equivalent length of 14-in pipe, fittings, and valves =
2079.33 ft of 14-in pipe,

Similarly we get the total equivalent length of 16-in pipe, fittings, and
valve as follows:

Straight pipe: 16-in, 3000 ft = 3000 ft of 16-in pipe

Four 16-in 90° elbows = 4—X§1%3<£ = 160 ft of 16-in pipe
One 16-in ball valve = M = 4 ft of 16-in pipe

12
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Therefore, the total equivalent length of 16-in pipe, fittings, and valve =
3164 ft of 16-in pipe.

Finaily, we calculate the total equivalent length of 18-in pipe, fittings, and
valve ag follows:

Straight pipe: 18-in, 5000 ft = 5000 ft of 18-in pipe

Six 18-in 90° elbows = 6_x3‘_1(22_>_<_1§ = 270 ft of 18-in pipe
i
One 18-in gate valve = “%ﬁ = 12 ft of 18-in pipe

Therefore, the total equivalent length of 18-in pipe, fittings, and valve =
5282 ft of 18-in pipe.

Next we convert all the preceding pipe lengths to the equivalent 14-in pipe
based on the fact that the pressure loss is inversely proportional to D487,
where D ig the inside diameter of pipe.

2079.33 ft of 14-in pipe = 2079.33 ft of 14-in pipe

i8.5

18-in pipe = —_—
3164 ft of 16-in pipe = 3164 x (15‘25

4.87
) = 1748 & of 14-in pipe
13.6

18:91 Bine — 1356
5282 ft of 18-in pipe = 5282 x (17‘25

4,87
) = 1601 ft of 14-in pipe

Therefore adding all the preceding lengths we get
Total equivalent length in terms of 14-in pipe = 5429 ft of 14-in pipe

We still have to account for the 16 x 14 in and 18 x 16 in reducers, The
reducers ean be considered as sudden enlargements for the approximate cal-
culation of the head loss, using the K factor and velocity head method. For
sudden enlargements, the resistance coefficient X is found from

a\*]"
K={1- (1.49)
()]
where dj is the smaller diameter and d is the larger diameter.
For the 16 x 14 in reducer,

[ 18.5\2]"
K= 1—(-1%) = 0.0468

and for the 18 x 16 in reducer,

" 912
15.26
K=|1- (mg) = 0.0477

The head loss through the reducers will then be caleulated based on K(V %2g).
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Flow velocities in the three different pipe sizes at 3500 gal/min will be
calculated using Eq. (111} 7
0.4085 = 3500

Velocity in 14-in pipe; Vg = SR CEY = 7.85 ft/s

Velocity in 168-in pipe: Vig == %)3;9_9 == §.15 fifs

Velocity in 18-in pipe: Vig = %ﬁ% = 4.81 fi/s

The head loss through the 16 x 14 in reducer is

7.85°
y = 0.0468r = 0.0448 f

and the head loss through the 18 x 16 in reducer is

6,152
hy == “'0477”62{.1 =0.028 ft

These head losses are insignificant and hence can be neglected in comparison
with the head loss in straight length of pipe. Therefore, the total head loss in
the entire piping system will be hased on a total equivalent length of 5429 ft
of 14-in pipe.

Using the Hazen-Williams squation (1.32) the pressure drop at 3500
gal/min is

1.85%2 .
3500 10 .
h = 10,460 ( 116 ) TI5 5T = 12.760 ft per 1000 ft of pipe
Therefore, for the 5429 ft of squivalent 14-in pipe, the total pressure drop is
12.7 x 5429 68.95 .

(b} When the flow rate is inereased to 6000 gal/min, we can use proportions
t0 estimate the new total pressure drop in the piping as follows:

6000 1852
h= (EEE(_)) % 12,7 = 34.46 £ per 1000 ft of pipe

Therefors, the total pressure drop in 5429 ft of 14-in, pipe is

54329 187.09 .
h=34.46 x 1666 = 187.09 ft = CRTR 81.0 psi

Example 1.15 Two pipes with 400- and 600-mm diameters, respectively, are
connecied in series with pipe reducers, fittings, and valves as follows:
400-mm pipeline, 6-mm wall thickness, 600 m long

600-mm pipeline, 10-mm wall thickness, 1500 m long

One 600 x 400 mm reducer

Two 400-mm 90° etbows
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Four 600-mm 50° elbows

One 400-mm gate valve

One 600-mm gate valve

Use the Hazen-Williams equation with a C factor of 120 to caleulate the total

pressure drop in the series water piping system at a flow rate of 250 Lfs,
What will the pressure drop be if the flow rate were increased to 350 L/s?

sofution The total equivalent length on 400-mm-diameter pipe is the sum of
the following:

Straight pipe length = 600 m

5 2 x 30 x 400

Two 90° elbows = 1000 =24 m
1 x 8 x 400

One gate valve = 000 = 32m

Thus,
Total equivalent length on 400-mm-diameter pipe = 627.2 m

The total equivalent length on 600-mm-diameter pipe is the sum of the
following:
Straight pipe length = 1500 m
4 x 30 x 600
- 1000
1x8x600
e T

Four 90° elbows = =72 m

One gate valve = =48m

Thus,
Total equivalent Iengﬁh on 600-mm-diameter pipe = 1576.8 m

Reducers will be neglected since they have insignificant head logs, Convert
all pipe to 400-mm equivalont diameter.

388 4.87
1576.8 m of 600-mm pipe = 1576.8 [ ===
580
= 222.6 m of 400-mm pipe
Total equivalent length on 400-mm-diameter pipe = 627.2+222.6 = 849.8m
@ = 250 x 1073 x 3600 = 900 m®/h
The pressure drop from Eq. (1.35) is

1.862
200\ ™ 1
=11 13
Fin = 11101 x 10 (120) (388187

= 114.38 kPa/km

114.38 x 849.8

Total pressure drop = 1006

=872 kPa
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When the flow rate is increased to 350 Lfs, we can calculate the pressure
drop using proportions as follows:

350

1.862
%) x 114.38 = 213.3 kPa/km

Revised head loss at 350 Lis = (

Therefore,
Total pressure drop = 213.3 x 0.8498 = 181.3 kPa

1.8.2 Parallel piping

Water pipes in parallel are set up such that the multiple pipes are con-
nected so that water flow splits into the multiple pipes at the beginning
and the separate flow streams subsequently rejoin downstream into
another single pipe as depicted in Fig, 1.8,

Figure 1.8 shows a parallel piping system in the horizontal plane
with no change in pipe elevations. Water flows through a single pipe
AB, and at the junction B the flow splits into two pipe branches BCE
and BDE. At the downstream end at junction E, the flows rejoin to the
initial flow rate and subsequently flow through the single pipe EF.

To calculate the flow rates and pressure drop due to friction in the
parallel piping system, shown in Fig. 1.8, two main principles of parallel
piping must be followed. These are flow conservation at any Jjunction
point and common pressure drop across each parallel branch pipe.

Based on flow conservation, at each junction point of the pipeline,
the incoming flow must exactly equal the total outflow. Therefore, at
junction B, the flow @ entering the junction must exactly equal the
sum of the flow rates in branches BCE and BDE.

Thus,

€ = Qpce + QroE (1.50)

where Qpcr = flow through branch BCE
@rng = flow through branch BDE
@ = incoming flow at junction B

The other requirement in parallel pipes concerns the pressure drop
in each branch piping. Based on thig the pressure drop due to friction

£,
A B E F
D

Figure 1.6 Parallel piping.

e s g e e
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in branch BCE must exactly equal that in branch BDE, This is because
poth branches have a common starting point (B) and a common ending
point (E). Since the pressure at each of these two points is a unique
value, we can conclude that the pressure drop in branch pipe BCE and
that in branch pipe BDE are both equal to Pg — P, where Py and Pg
represent the pressure at the junction points B and E, respectively,

Another approach to calculating the pressure drop in parallel piping
is the use of an equivalent diameter for the parallel pipes. For example
in Fig. 1.8, if pipe AB has a diameter of 14 in and branches BCE and
BDE have diameters of 10 and 12 in, respectively, we can find some
equivalent diameter pipe of the same length as one of the branches
that will have the same pressure drop between points B and C as the
two branches. An approximate equivalent diameter can be calculated-
using the Darcy equation,

The pressure loss in branch BCE (10-in diameter) can be calculated
as

_ [Ly/D))V?
=
where the subseript 1is used for branch BCE and subscript 2 for branch

BDE.
Similarly, for branch BDE

f(Lo/Dg) VP
hy = —=—=" 2
2g
For simplicity we have assumed the same friction factors for both
branches. Since k; and g are equal for parallel pipes, and representing

the velocities V; and V5 in terms of the respective flow rates @, and @,
using Eq. (1.28) wo have the following equations:

FLy/DOVA? _ f(Ly/Dy)V3?

hy (1.51)

(1.52)

o - (1.58)
Vi = 0.4085. 2L (1.54)

D2
V, = 0.4085. 22 (1.55)

Dy?

In these equations we are agsuming flow rates in gal/min and diameters
in inches.

Simplifying Eqs. (1.53) to (1.55), we get

L (@) Loy
Di \Di2)] ~ Dy \ D2
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or

QL 05 /D, \ 25 '
@_(TZ) (E) (1.56)

Also by conservation of flow

Gh+Q2=@Q ' (1.57)

Using Eqs. (1.56) and (1.57), we can calculate the flow through each
branch in terms of the inlet flow @. The equivalent pipe will be desig-
nated as D, in diameter and I, in length. Since the equivalent pipe will
have the same pressure drop ag each of the two branches, we can write

L (Q\ L (& )2

5 ( Dez) -2 (& s
where @, is the same as the inlet flow @ since both branches have
been replaced with a single pipe. In Eq. (1.58), there are two unknowns
L, snd D.. Another equation is needed to solve for both variables. For

simplicity, we can set L, to be equal to one of the lengths L; or Ly,
With this assunption, we can solve for the equivalent diameter D, as

follows:
0.4
D, = Dy (%) (1.59)

Example 1.16 A 10-in water pipeline consists of a 2000-ft section of NPS 12
pipe (0.250-in wall thickness) starting at point A and terminating at point
B. At point B, two pieces of pipe (4000 ft long each and NPS 10 pipe with
0.250-in wall thickness) are connected in parailel and rejoin at a point D.
Trom D, 3000 ft of NPS 14 pipe (0,250-in wall thickness) extends to point £.
Using the equivalent diameter methed calculate the pressures and flow rate
throughout the gystem when transporting water at 2500 gal/min. Compare
the results by calculating the pressures and flow rates in each branch. Use
the Colebrook-White equation for the friction factor.

Solution Since the pipe loops between B and D are each NPS 10 and 4000 £t
long, the flow will be equally split between the two branches, Each branch
pipe will carry 1250 gal/min,

The equivalent diameter for section BD is found from Eq, (1.59):

Q 0.4
D, = I} (@T) = 10.25 x (2)%* = 13.525 in

Therefore we can replace the two 4000-ft NPS 10 pipes between B and D
with a single pipe that is 4000 fi long and has a 13.528-in inside diameter.
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The Reynolds number for this pipe at 2500 gal/min is found from Eq. (1.15):

3162.5 x 2500
R=aeswig = 084506

Considering that the pipe roughness is 0.002 in for all pipes:

. .002
Relative roughness A 0.00

D~ 135265

From the Moody diagram, the friction factor f == 0.0147. The pressure drop
in section BD is [using Eq. (1.24)]

= 0.0001

FQ?
B, = 71.16—55-
0.0147 = (2500)2 % 1
=171.18 = 14.45 psi/mi
7 (13.525)6 bsim
Therefore,
Total pressure drop in BD = ﬂ{%;mg = 10.95 psi

For section AB we have,
_ 3162.5 x 2500

Relative roughness % = %g = 0.0002

From the Moody diagram, the friction factor £ = 0.0147. The pressure drop
in section AB is [using Fq. (1.24)]

0.0147 x (250002 x 1

By = 71.16 = 22.66 psi/mi
T (12255 2 psi/mi
Therefore,
Total pressure drop in AB = 22,66 x 2000 = 8.58 psi
5280 .
Finally, for section DE we have,
3162.6 x 2500
R= BEnIio " 585,648
. e 0.002
Relative roughness D= 85~ 0.0001

From the Moody diagram, the friction factor 7 = 0.0147. The pressure drop
in section DE is

0.0147 x (250002 x 1

B,=171.16 = 14.58 psi/mi
e REIL pei/mi
Therefore,
Total pressure drop in DF, = %%(«)32(—)9 = 8.28 psi
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Finally,
Total pressure drop in entire piping system = 8.58 4 10.95 -- 8.28
= 27.81 psi

Next for comparison we will analyze the branch pressure drops considering
each branch separately flowing at 1250 gal/min.

81625 x 1250

. e 0.002
Relative roughness D = 1085 0.0002

From the Moody diagram, the friction factor # = 0.0158, The pressure drop
in section BD is [using Eq. (1.24)]

0.0158 x (125002 x 1
(10.25)8
This compares with the pressure drop of 14.45 psi/mi we calculated vsing an

equivalent diameter of 18.525, It can be seen that the difference between the
two pressure drops is approximately 7.5 percent.

Pp=7116 = 15.53 psi/mi

Example 1.17 A waterline 5000 m long is composed of three sections A, B,
and C. Section A has a 200-m inside diameter and is 1500 m long. Section
C has a 400-mm inside diameter and is 2000 m long. The middle section B
consists of two parallel pipes each 3000 m long. One of the parallel pipes
has a 150-mm inside diameter and the other has a 200-mm inside diameter.
Assume no slevation change throughout. Calculate the pressures and flow
rates in this piping system at a flow rate of 500 m3/h, using the Hazen-
Williams formula with a C factor of 1.20.

Solution We will replace the two 3000-m pipe branches in section B with a
single equivalent diameter pipe to be determined. Since the pressure drop
according to the Hazen-Williams equation is inversely proportional to the
4.87 power of the pipe diameter, we calculate the equivalent diameter for
section B as follows:

Q152 @182 @,l8e
DABT  DAST T DaEr

De Q 0.3803
(8
Also @, = @1+ @z and

& ~ & 2.63 _ 15_[1 2.63 04603
QR \Dg =\ 200 =

Therefore,




Water Systems Piplng 41

Solving for @1 and @, with §, = 500, we get

E
|

Q1 =169.7m%hr  and @, = 340.3m%h

Therefore, the equivalent diameter is

0.3803 0.3803
Qe 500
D, =D =— = 150 _—_— = 231.52 mm

== ( @ “\ 597
The pressure drop in section A, using Hazen-Williams equation (1.85), is

1.852
500
= 13 2= - — 970,
mo= 1.1101 x 10™° x (12{)) X 2005F 970.95 kPa/km

AR, = 97095 x 1.6 = 1456.43 kPa
The pressure drop in section B, using Hazen-Williams equation, is

500 1.862 3 1
120 (231.52)4-87

Py = 1.1101 x 1018 x (
AP, = 476.07 x 8.0 = 1428.2 kPa

= 476.07 kPa/km

The pressure drop in section C, using Hazen-Williams equation, is

1,862
OO\
— 13 = —
m = 1.1101 x 10°° x (120) % (1007557 = 33.20 kPa/km

AP, =332 x 2.0 =66.41 kPa

Therefore,

Total pressure drop of sections A, B, and C = 1456.43 + 1428.20 + 686.41
= 2951.04 kPa

1.9 Total Pressure Required

So far we have examined the frictional pressure drop in water systems
piping consisting of pipe, fittings, valves, etc, We also calculated the
total pressure required to pump water through a pipeline up to a de-
livery station at an elevated point. The total pressure required at the

beginning of a pipeline, for a specified flow rate, consists of three distinct
components:

1. Frictional pressure drop
2. Elevation head
3. Delivery pressure

E= Pf + Polev + Pae from Eq. (1.29)
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The first item is simply the total frictional head logs in all straight pipe,
fittings, valves, ete. The second item accounts for the pipeline elevation
difference hetween the origin of the pipeline and the delivery termi-
nus, If the origin of the pipeline is at a lower elevation than that of the
pipeline terminus or delivery point, a certain amount of positive pres.
sure is required to compensate for the elevation difference, On the other
hand, if the delivery point were at a lower elevation than the beginning
of the pipeline, gravity will assist the flow and the pressure required
at the beginning of the pipeline will be reduced by this elevation differ-
ence. The third component, delivery pressure at the terminus, simply
ensures that a certain minimum pressure is maintained at the delivery
point, such as a storage tank.

For example, if a water pipeline requires 800 psi to take care of fric-
tional losses and the minimum delivery pressure required is 25 psi, the
total pressure required at the beginning of the pipeline is calculated as
follows. If there were no elevation difference between the beginning of
the pipeline and the delivery point, the elevation head (component 2)
is zero. Therefore, the total pressure P, required is

P, = 800 + 0+ 25 = 825 psi

Next consider elevation changes. If the elevation at the beginning is
100 ft and the elevation at the delivery point is 500 ft, then

(500 — 100) % 1.0
2.31

The middle term in this equation represents the static elevation head
difference converted to psi. Finally, if the elevation at the beginning is
500 ft and the elevation at the delivery point is 100 ft, then

P =800+ 200=500 %10 or _ g5184psi
2.31
It can be seen from the preceding that the 400-ft advantage in ele-
vation in the final case reduces the total pressure required by approxi-
mately 173 psi compared to the situation where there was no elevation
difference between the beginning of the pipeline and delivery point.

P, =800 +

+ 25 = 998.16 psi

1.9.1 Effect of elevation

_The preceding discussion illustrated a water pipeline that had a flat el- -
evation profile compared to an uphill pipeline and a downhill pipeline.
There are situations, where the ground elevation may have drastic
peaks and valleys, that require careful consideration of the pipeline
topography. In some instances, the total pressure required to transport -
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a given volume of water through a long pipeline may depend more on
the ground elevation profile than the actual frictional pressure drop.
In the preceding we caleulated the total pressure required for a flat
pipeline as 825 psi and an uphill pipeline to be 998 psi. In the up-
hill case the static elevation difference contributed to 17 percent of the
total pressure required. Thus the frictional eomponent was much higher
than the elevation component. We will examine a case where the ele-
vation differences in a long pipeline dictate the total pressure required
more than the frictional head logs.

Example 1.18 A 20-in (0.375-in wall thickness) water pipeline 500 mi long
has a ground elevation profile as shown in Fig. 1.9. The elevation at Corona
is 600 ft and at Red Mesa is 2350 ft. Caleulate the total pressure required at
the Corona pump station to transport 11.5 Mgal/day of water to Red Mesa
storage tanks, assuming a minimum. delivery pressure of 50 psi at Red Mesa.
Use the Hazen-Williams equation with & O factor of 140, If the pipeline
operating pressure cannot exceed 1400 psi, how many pumping stations,
besides Corona, will be required to transport the given flow rate?

Solution The flow rate @ in gal/min is
115 x 10¢

If P is the head loss in psifmi of pipe, uging the Hazen-Williams equation
(1.83),
. 1.86%
7986.11 1 e
B, = 23,909 ( 140 ) T 23.76 psi/mi
Therefore,

Frictional pressure drop = 23.76 psi/mi

Hydraui
c yaraulic preggyrg gradlent = 11,5 Moal/day
50 psi

Pipeline elevation profile

A Flow B
——————
Corona 500-mi-long, 20-n pipsline Red Mesa
Elev. = 600 #t Elev. = 2350 ft

Figure 1.9 Corona to Red Mesa pipeline.
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The total pressure required at Corona is calculated by adding the pressure
drop due to friction to the delivery pressure required at Red Mesa and the
static elevation head between Corona and Red Mesa.

= Pf + Patev + Pael from Eq, (1.29)

= (23.76 x 500 + 335—3311—@ +50

= 11,880 + 757.58 + 50 = 12,688 psi rounded off to the nearest psi

Since a total pressure of 12,688 psi at Corona far exceeds the maximum op-
erating pressure of 1400 psi, it is clear that we need additional intermediate
booster pump stations besides Corona. The approximate number of pump
stations required without exceeding the pipeline pressure of 1400 psi is

88
Number of pump stations = }%j)—o = 9.06 or 10 pump stations

With 10 pump stations the average pressure per pump gtation will be

12,68
Average pump staetion pressure = ;L((S) 5 _ 1269 psi

1.9.2 Tight line operation

When there are drastic elevation differences in a long pipeline, some-
times the last section of the pipeline toward the delivery terminus may
operate in an open-channel flow. This means that the pipeline section
will not be full of water and there will be a vapor space above the water.
Such situations are acceptable in water pipelines compared to high
vapor pressure liquids such as lquefied petroleum gas (LPG). To pre-
vent such open-channel flow or slack line conditions, we pack the line
by providing adequate back pressure at the delivery terminus as illus-
trated in Fig. 1.10.

c Pipeline pressure gradient
Peak D ®
5
7]
]
2
o
4
3
Pipeline elevation profile f
A e B
, Flow ) .
Pump station - Delivery terminus

Figure 1,10 Tight line operation.
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Pipeline elevation profile

A — B
pump statlon Flow Delivery terminus

Figure 1.11 Slack line flow.

1.9.3 Slack line flow

Slack line or open-channel flow occurs in the last segment of a long-
distance water pipeline where a large elevation difference exists be-
tween the delivery terminus and intermediate point in the pipeline as
indicated in Fig. 1.11.

If the pipeline were packed to avoid slack line flow, the hydraulic
gradient is as shown by the solid line in Fig. 1.11. Howaever, the piping
system. at the delivery terminal may not be able to handle the higher
pressure due to line pack. Therefore, we may have to reduce the pres-
sure at some point within the delivery terminal using a pressure control
valve. This is illustrated in Fig. 1.11,

1.10 Hydraulic Gradient

The graphical representation of the pressures along the pipeline, as
shown in Fig, 1.12, is called the hydraulie pressure gradient. Since ele-
vation is measured in feet, the pipeline pressures are converted to feet of
head and plotted against the distance along the pipeline superimposed

© £ Pipelj
Beiine pressure gragiont D
Pressurs
Pipeline elevation profile
A B

Pump station Delivery terminus

Figure 112 Hydraulic pressure gradient.
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on the elevation profile. If we assume a beginning elevation of 100 ft,
a delivery terminus elevation of 500 ft, a total pressure of 1000 psi
required at the beginning, and a delivery pressure of 25 psi at the ter-
minus, we can plot the hydraulic pressure gradient graphically by the
following method.

At the beginning of the pipeline the point C representing the total
pressure will be plotted at a height of

100 ft + (1000 x 2.81) = 2410 ft

Similarly, at the delivery terminus the point D representing the total
head at delivery will be plotted at a height of

BOO + (26 x 2.31) = 558 ft rounded off to the nearest foot

The line connecting the points  and D represents the variation of the
total head in the pipeline and is termed the hydraulic gradient. At any
intermediate point such as & along the pipeline the pipeline pressure
will be the difference between the total head represented by point # on
the hydraulic gradient and the actual elevation of the pipeline at E.

If the total head at F is 1850 f and the pipeline elevation at E is
250 ft, the actual pipeline pressure at & is

1600 .
It can be seen that the hydraulic gradient clears all peaks along the
pipeline. If the elevation at X were 2000 ft, we would have a negative
pressure in the pipeline at E equivalent to

(1850 — 2000)ft = — 150 & = — o0 = —65 psi
2.31
Since a negative pressure is not aceeptable, the total pressure at the be-

ginning of the pipeline will have to be higher by the preceding amount,
Revised total head at A = 2410 + 150 = 2560 {t

"This will result in zero gauge pressure in the pipeline at peak K. The ac-
tual pressure in the pipeline will therefore be equal to the atmospheric
pressure at that location. Since we would like to always maintain some
positive pressure above the atmospheric pressure, in this case the total
head at A must be slightly highet than 2560 ft. Assuming a 10-psi posi-
tive pressure is desired at the highest peak such as E (2000-f elevation),
the revised total pressure at A would be

Total pressure at 4 = 1000 + 65 + 10 == 1076 psi
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Therefore,
Total head at C = 100 + (1075 x 2.81) = 2483 ft

This will ensure a positive pressure of 10 psi at the peak E.

1.11 Gravity Flow

Gravity flow in a water pipeline occurs when water flows from a source
at point A at a higher elevation than the delivery point B, without any
pumping pressure at A and purely under gravity. This is illustrated in
g, 1,13,

F %‘he volume flow rate under gravity flow for the reservoir pipe system
shown in Fig. 1.13 can be calculated as follows. If the head loss in the
pipeline is 7 ft/ft of pipe length, the total head loss in length Lis{(hx L).
Since the available driving force is the difference in tank levels at A
and B, we can write

H —(hx L) = H (1.60)
Therefore,
Al = H, — Hy (1.61)
and
_B-B
h= i3 (1.62)

where 2 = head loss in pipe, ft/ft
L = length of pipe
H, =head in tank A
H, =head in tank B

In the preceding analysis, we have neglected the entrance and exit

losses at A and B. Using the Hazen-Williams equation we can then
calculate flow rate based on a C value,

A

L

2y
\Q ~—— 2

Figure 1.13 Qravity flow from reservoir.
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- Example 1.19 The gravity feed system shown in Fig. 1.13 consists of a
16-inch (0.250-in wall thickness) 3000-f-long pipeline, with a tank elevation
at A = 500 ft and elevation at B = 150 ft. Caleulate the flow rate through
this gravity flow system. Use a Hazen-Williams C factor of 130.

Solution

500 — 160
h= 58565 = 0.1187 fi/fy

Substituting in Hazen-Williams equation (1.32), we get

Q 1852 ;487
0.1167 x 1000 = 10,460 x (Tﬁﬁ) (”1"5*‘5)

Salving for fiow rate @,
@ = 15,484 gal/min
Compare the results uging the Colebrook-White equation assuming e =
0.002.
e _ 0.002
D 1565

We will assume a friction factor £ = 0.02 initially. Head loss due to friction
per Eq. (1.24)is

= 0.0001

0.02(Q%)

P, = 7116
m X 155

psi/mi
or

Py, = 15908 x 107%Q% psi/mi

2.31
6 2
5280) @ W

= (6.9596 x 10719)Q? f/ft
0.1167 = (6.9596 x 10~1%)Q?

= (1.5908 » 107

Solving for flow rate €, we get
@ = 12,949 gal/min
Solving for the Reynolds number, we get

12,949
15.5
From the Moody diagram, f = 0.0128. Now we recalculate F,,

2

= 71.16 x 0.0128 x (—1—5Q—E)ﬁ peifmi

= 44541 x 1071°Q?  fy/ft

Re = 31625 x

x 1= 2,642,053
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; Solving for @ again,
£
@ = 16,186 gal/min

By successive iteration we arrive at the final flow rate of 16,379 gal/min
using the Colebrook-White equation. Comparing this with 15,484 gal/min
obtained using the Hazen-Williams equation, we see that the fiow rate is

underestimated probably because the assumed Hazen-Williams C factor
(€ = 130) was too low,

Example 1.20 The two-reservoir system described in Fig, 1.13 is medified
to include a second source of water from a tank located at C between the two
tanks located at A and B and away from the pipeline AB, The tank at C is
at an elevation of 300 ft and connects to the piping from A to B via a new
16-inch, 1000-ft-long pipe CD. The common junction D is located along the
pipe AB at a distance of 1500 £} from the tank at B. Determine the flow rates

i @ from Ato D, @ from C to D, and @3 from D to B. Use the Hazen-Williams
: equation with C' = 130,

Solution At the common junction D we can apply the conservation of flow
principle as follows:

G+ Qe =Qs

Also since D is a common junction, the head Hp at point D is comimon to the
three legs AD, CD, and DB, Designating the head logs due to friction in the
regpective pipe segments AD, CD, and DB as fAD, hycp, and hypp, we can
write the following pressure balance equations for the three pipe legs,

: Hp = Hy — hyap
Hp=He —hsep
Hp=Hg+hrpp

Since the pipe sizes are all 16 in and the (' factor is 130, using the Hazen-
Williams equation (1.32) we can write

Lap Ql 1.852 1 4.87
= ZAD (Y1 - 1.852
thD—10,460x1000 (130) ( ) KLap x @y

15.56

where K is a constant for all pipes and is equal to

1 1 1.862 1 4.87

K = 10,460 x T (Téﬁ) (1—5—5) = 2.0305 x 10~?
% and
! Lap = length of pipe from A to D = 1500 &

Similarly, we can write

hicp = KLgp x Qg1892
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and for leg DB
hfpp = KLpp x Qg*%%2
Substituting the values in the preceding Hp equations, we got
Hp = 500 — K x 1500 x @862
Hp = 800 ~ K x 1000 x @852
Hp = 150 + K » 1000 x Qa*5%

Simplifying these equations by eliminating Hp, we get the following two
equations:

1.5Q, 1852 _ g, 1852 _ 91?2 (A)
1.5Q11'852 + Q31.852 - 9_§§ (B

Also
Q1+ Q:=@s (%)

Selving for the three flow rates we get,

@ = 16,677 &g == 1000 and @5 = 17,677

1.12 Pumping Hdrsepower

In the previous sections we calculated the total pressure required at
the beginning of the pipeline to transport a given volume of water over
a certain distance, We will now calculate the pumping horsepower (HP)
required to accomplish this,

Consider Example 1.18 in which we calculated the total pressure
required to pump 11,5 Mgal/day of water from Corona to Red Mesa
through a 500-mi-long, 20-in pipeline. We calculated the total pressure
required to be 12,688 psi. Since the maximum allowable working pres-
gure in the pipeline was limited to 1400 psi, we concluded that nine
additional pump stations besides Corona were required. With a total of
10 pumnp stations, each pump station would be discharging at a pressure
of approximately 1269 psi.

At the Corona pump station, water would enter the pump at some
minimum pressure, say 50 pai and the pumps would boost the pressure
to the required discharge pressure of 1269 psi. Effectively, the pumps
would add the energy equivalent of 1269 — 50, or 1219 psi at a flow
rate of 11.5 Mgal/day (7986.11 gal/min). The water horsepower (WHP)
required is calculated as

(1219 x 2.31) x 7986.11 x 1.0

WHP = 3960 = 5679 HP
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The general equation used to calculate WHP, also known as hydraulic
horsepower (HHP), is as follows:

WHP ft of head x (gam;;nsi)x specific gravity (1.63)

Assuming a pump efficiency of 80 percent, the pump brake horsepower
(BHP) required is

BHP — % — 7099 HP

The general equation for calculating the BHP of a pump is

_ ft of head x (gal/min) x (specific gravity)
BHP = 3960 x offy (1.64)

where effy ig the pump efficiency expressed as a decimal value.
If the pump is driven by an electric motor with a motor efficiency of
95 percent, the drive motor HP required will be

7099
Motor HP = 09 = 7473 HP
The nearest standard size motor of 8000 HP would be adequate for this
application. Of course this assumes that the entire pumping require-
ment at the Corona pump station is handled by a single pump-motor
unit. In reality, to provide for operational flexibility and maintenance
two or more pumps will be configured in series or paraltel configura-
tions to provide the necessary pressure at the specified flow rate, Let us
assume that two pumps are configured in parallel to provide the nec-
essary head pressure of 1219 psi (2816 ft) at the Corona pump station.
Each pump will be designed for one-half the total flow rate (7986.11) or
3993 gal/min and a head pressure of 2816 ft. If the pumps selected had

an efficiency of 80 percent, we can calculate the BHP required for each
pump as follows:

2816 x 3993 x 1.0
3960 x 0.80

= 8550 HP

BHP =

from Eq. (1.64)

Alternatively, if the pumps were configured in series instead of parallel,
each pump will be designed for the full flow rate of 7986.11 gal/min but
at half the total pressure required, or 1408 ft. The BHP required per
pump will still be the same as determined by the preceding equation.
Pumps are discussed in more detail in Sec. 1.13.
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1.13 Pumps

Pumps are installed on water pipelines to provide the necessary pres-
sure at the beginning of the pipeline to compensate for pipe friction and
any elevation head and provide the necessary delivery pressure at the
pipeline terminus. Pumps used on water pipelines are either positive
displacement (PD) type or centrifugal pumps.

PD pumps generally have higher efficiency, higher maintenance cost,
and a fixed volume flow rate at any pressure within allowable limits.
Centrifugal pumps on the other hand are more flexible in terms of flow
rates but have lower efficiency and lower operating and maintenance
cost. The majority of liquid pipelines today are driven by centrifugal
pumps.

Since pumps are designed to produce pressure at a given flow rate,
an important characteristic of a pump is its performance curve. The
performance curve is a graphic representation of how the pressure gen-
erated by a pump varies with its flow rate. Other parameters, such as
efficiency and horsepower, are also considered as part of a pump per-
formance curve,

1.13.1 Positive displacement pumps

Positive digplacement (PD) pumps include piston pumps, gear pumps,
and screw pumps. These are used generally in applications where a
constant volume of liguid must be pumped against a fixed or variable
pressure,

PD pumps can effectively generate any amount of pressure at the
fixed flow rate, which depends on its geometry, as long as equipment
pressure limits are not exceeded. Since a PD pump can generate any
pressure required, we must ensure that proper pressure control de-
vices are installed to prevent rupture of the piping on the discharge
side of the PD pump. As indicated earlier, PD pumps have less flexi-
bility with flow rates and higher maintenance cost. Because of these
reasons, PD pumps are not popular in long-distance and distribution
water pipelines. Centrifugal pumps are preferred due to their flexibility
and low operating cost.

1.13.2 Centrifugal pumps

Centrifugal pumps consist of one or more rotating impellers contained
in a casing, The centrifugal force of rotation generates the pressure in
the liquid as it goes from the suction side to the discharge side of the
pump. Centrifugal pumps have a wide range of operating flow rates
with. fairly good efficiency. The operating and maintenance cost of a
centrifugal pump is lower than that of a PD pump. The performance
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Head -3
Efficiency %
BEP
H 3
Head Efficiency %
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/ BHP
Q

Flow rate (capacity)

Figure 1.14 Performance curve for centrifugal pump.

curves of a centrifugal pump consist of head versus capacity, efficiency
versus capacity, and BHP versus capacity. The term capacity is used
synonymously with flow rate in connection with centrifugal pumps. Also
the term head is used in preference to pressure when dealing with
centrifugal pumps. Figure 1.14 shows a typical performance curve for
a centrifugal pump.

Generally, the head-capacity curve of a centrifugal pumpisa drooping
curve. The highest head is generated at zero flow rate (shutoffhead) and
the head decreases with an increase in the flow rate as shown in Fig.
1.14. The efficiency increases with flow rate up to the best efficiency
point (BET) after which the efficiency drops off, The BHP calculated
using Eq. (1.64) also generally increases with flow rate but may taper off
or start decreasing at some point depending on the head-capacity curve,

The head generated by a centrifugal pump depends on the diameter
of the pump impeller and the speed at which the impeller runs. The
affinity laws of contrifugal pumps may be used to determine pump per-
formance at different impeller diameters and pump speeds. These laws
can bé mathematically stated as follows:

For impeller diameter change:

¢ D '
Flow rate: — = 1.66
y & Do (1.65)
. H Di\? :
Head: o Y |
ead oA ( Dz) (1.68)
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_ BHP; _(D:\°
BHP: B, = (E) (1.67)

For impeller speed change:

Flow rates: % = % (1.68)
_ H (N

Heads: A (Fz) (1.69)
. BHP; (M’

BHP: TS, ~ (E) (1.70)

where subscript 1 refers to initial conditions and subscript 2 to final
conditions. It must be noted that the affinity laws for impeller diameter
change are accurate only for small changes in diameter. However, the
affinity laws for impeller speed change are accurate for a wide range of
impeller speeds,

Using the affinity laws if the performance of a centrifugal pump is
known at a particular diameter, the corresponding performance at a
slightly smaller diameter or slightly larger diameter can be calculated
very easily. Similarly, if the pump performance for a 10-in impeller at
3500 revolutions per minute (r/min) impeller speed is known, we can
easily calculate the performance of the same pump at 4000 r/min.

Example 1.21 The performance of a centrifugal pump with a 10-in impeller
i as shown in the following table,

Capacity @, gal/min Head A, ft Efficiency E, %
0 2355 0
1600 . 2340 57.5
2400 2280 72.0
3200 ' 2115 79.0
3800 1920 80.0
4000 18456 79.8
4800 1545 76.0

{a) Determine the revised pump performance with a reduced impeller size
of 9 in.

{b) If the given performance is based on an impeller speed of 3560 r/min,
calculate the revised performance at an impeller speed of 3000 r/min.

Solution

{(a) The ratio of impeller diameters is 1% = 0.9. Therefore, the § values will
be multiplied by 0.9 and the H values will be multiplied by 0.9 x 0.9 = 0.81.
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Revised performance data are given in the following table.

Capacity €, gal/min Head H, ft Efficiency E, %
g 0 1907 0
1440 1806 &67.5
2160 1847 72.0
2880 1718 79.0
3420 : 1588 80.0
3600 1495 79.8
4320 1262 76.0

(b) When speed is changed from 8560 to 8000 r/min, the speed ratio =
3000/3560 = 0.8427, Therefore, @ values will be multiplied by 0.8427 and &
values will be multiplied by (0.8427)% = 0.7101. Therefore, the revised pump
performance is as shown in the following table.

Capacity @, gal/min Hoad H, {t Efficiency E, %
0 1673 0
1348 1642 6'7.56
2022 1819 72.0
26897 1802 79.0
3202 1388 ’ 80.0
3371 1310 79.8
4045 1007 ‘ 76.0

Example 1.22 For the same pump performance described in Example 1.21,
calculate the impeller trim necessary to produce a head of 2000 ft at a flow
rate of 3200 gal/min, If this pump had & variable-speed drive and the given
performance was based on an impeller speed of 3560 r/min, what speed would
be required to achieve the same design point of 2000 f of head at a flow rate
of 3200 gal/min?

Solution Using the affinity laws, the diameter required to produce 2000 ft of
head at 3200 gal/min is as follows:

D\® 3000
10/ = 2118 _
D=10x09724=9721n

The speed ratio can be caleulated from
N\ 2000
3560,/ 2115

N = 3560 x 0.9724 = 3462 r/min

Solving for speed,
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Strictly speaking, this approach is only approximate gince the affinity laws
have to be applied along iso-efficiency curves. We must create the new H-Q
curves at the reduced impeller diameter (or speed) to ensure that at 3200
gal/min the head generated is 2000 ft. If not, adjustment must be made to
the impeller diameter (or speed). This is left as an exercise for the reader,

Net posltive suctlon head. An important parameter related to the oper-
ation of centrifugal pumps is the concept of net positive suction head
(NPSH). This represents the absolute minimum pressure at the suction
of the pump impeller at the specified flow rate to prevent pump cavita-
tion. If the pressure falls below this value, the pump impeller may be
damaged and render the pump useless.

The caleulation of NPSH available for a particular pump and piping
configuration requires knowledge of the pipe gize on the suction side of
the pump, the elevation of the water source, and the elevation of the
pump impeller along with the atmospheric pressure and vapor pressure
of water at the pumping temperature. The pump vendor may specify
that a particular model of pump requires a certain amount of NPSH
(known as NPSH required or NPSHg) at a particular flow rate. Based
on the actual piping configuration, elevations, etc., the caleculated NPSH
(known as NPSH available or NPSH4) must exceed the required NPSH
at the specified flow rate. Therefore,

NPSH, > NPSHp

If the NPSHj is 25 ft at a 2000 gal/min pump flow rate, then NPSH,
must be 35 ft or more, giving a 10-ft cushion. Also, typically, as the
flow rate increases, NPSHy increases fairly rapidly as can be seen from
the typical centrifugal pump curve in Fig. 1.14. Therefore, it is im-
portant that the engineer perform calculations at the expected range
of flow rates to ensure that the NPSH available ig always more than
the required NPSH, per the vendor’s pump performance data, As indi-
cated earlier, insufficient NPSH available tends to cavitate or starve the
pump and eventually causes damage to the pump impeller. The dam-
aged impeller will not be able to provide the necessary head pressure
as indicated on the pump performance curve, NPSH calculation will be
illustrated using an example next.

Figure 1.15 shows a centrifugal pump installation where water is

pumped out of a storage tank that is located at a certain elevation |

above that of the centerline of the pump. The piping from the storage
tank to the pump suction consists of straight pipe, valves, and fittings.
The NPSH available is caleulated as follows:

2.3
NPSH = (P, ~ Pt,)—s—g1 + H-+Ey - Ey—hy (1.71)

e v TS e T TR
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L } ;Pa Water level in tank, M

e
. Elevation of tank, £;

Pressure loss in suction piping, by

-—

M_QElevation of pump, &,

pigure 1.15 NPSH calculations.

where Fs = atmospheric pressure, psi
P, = liquid vapor pressure at flowing temperature, psia
Sg = liquid specific gravity
H = liquid head in tank, ft
E; = elevation of tank bottom, ft
E; = elevation of pump suction, ft
by = friction loss in suction piping from tank to pump suction, ft

All terms in Eq. (1.71) are known except the head loss £ Thisitem must
be calculated considering the flow rate, pipe size, and liquid properties.
We will use the Hazen-Williams equation with C = 120 for calculating
the head loss in the suction piping. We get

3000 1.852 1 . L
Rn = 23,909 (—1—2?) W = 29.03 psﬂml

The pressure loss in the piping from the tank to the pump = 22:08x50 _
2,75 psi. Substituting the given values in Eq. (1.71) assuming the vapor

pressure of water is 0.5 psia at the pumping temperature,
NPSH = (14.7 — 0.5) x 2.31 + 10 + 102 — 95 — 2.75 = 47.05 ft

The required NPSH for the pump must be less than thig value. If the
flow rate increases to 5000 gal/min and the liquid level in turn drops to
1 ft, the revised NPSH available is calculated as follows.

With the flow rate increasing from 3200 to 5000 gal/min, the pressure
loss due to friction P, is approximately,

5000 1862 o
P, = (m) x 29.03 = 66.34 psi/mi

Head loss in 500 ft of pipe = 66.34 x 500 = 6.3 psi

5280
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Therefore,
NPSH = (147 - 0.5) x 281 + 1+ 102 - 95 - 6.3 = 34.5 1%

It can be seen that the NPSH available dropped off considerably with
the reduction in Hquid level in the tank and the increased friction loss
in the suction piping at the higher flow rate, ,

The required NPSH for the pump (based on vendor data) must be
lower than the preceding available NPSH calculations. If the pump
data shows 38 ft NPSH required at 5000 gal/min, the preceding cal-
culation indicates that the pump will cavitate since NPSIH available is
only 34.5 ft.

Specific speed. An important parameter related to centrifugal pumps
is the specific speed. The specific speed of a centrifugal pump is defined
as the speed at which a geometrically similar pump must be run such
that it will produce a head of 1 ft at a flow rate of 1 gal/min. Mathemat-
ically, the specific speed is defined as follows

NQI/Z

M=t

(1.72)
where Ng = specific speed

N = impeller speed, r/min

) = flow rate, gal/min

H =head, fi

It must be noted that in Eq. (1.72) for specific speed, the capacity @
and head I must be measured at the best efficiency point (BEP) for the
maximum impeller diameter of the pump. For a multistage pump the
value of the head H must be calculated per stage. It can be seen from
Eq. (1.72) that low specific speed is attributed to high head pumps and
high specific speed for pumps with low head,

Similar to the specific speed another term known as suction specific
speed is also applied to centrifugal pumps. It is defined as follows:

NQl/z

Do = (NPSHz)#4

(1.73)

where Nug = suction gpecific spead
N = impeller speed, r/min
@ = flow rate, gal/min
NPSHy = NPSH required at the BEP
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with single or double suction pumps the full capacity ¢ is used in
Ed (1.78) for specific speed. For double suction pumps one-half the
v a]'ue of @ i used in calculating the suction specific speed.

pxample 1.23 Calculate the specific speed of a four-stage double suction
centrifugal pump with a 12-in-diameter impeller that runs at 3500 r/min
and generates a head of 2300 ft at a flow rate of 3500 gal/min at the BEP,
Calculate the suction specific speed of this pump, if the NPSH required is

23 ft.
sotution From Eq. (1.72), the specific speed_is
N2
= gow

_ 3500(3500)%/2

= (230044 = 1763

The suction epecific speed is calculated using Eq. (1.73):

NQ1/2

" NPSHz¢

_ 3500(3500/2)1/2
S @

Ngg

= 13,941

1.13.3 Pumps in series and parallel

In the discussions so far we considered the performance of a single cen-
trifugal pump. Sometimes, because of head limitations of a single pump
or flow rate limits, we may have to use two or more pumps togethor at a
pump station to provide the necessary head and flow rate. When more
than one pump is used, they may be operated in series or parallel con-
figurations. Series pumps are so arranged that each pump delivers the
same volume of water, but the total pressure generated by the com-
bination is the sum of the individual pump heads. Parallel pumps are
configured such that the total flow delivered is the sum of the flow rates
through all pumps, while each pump delivers a common head pressure.
For higher pressures, pumps are operated in series, and when larger
flow is required they are operated in parallel. _

In Example 1.18 we found that the Corona pump station required
bumps that would provide a pressure of 1219 psi at a flow rate of 7986.11
gal/min. Therefore we are looking for a pump or a combination of pumps
at Corona that would provide the following:

Flow rate = 7986.11 galimin ~ and  Head = 1219x2.81 — 2816 ft
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Pump A Pump B
N ()
— — > Q
o X XX
Head H; Head H,
—3 Q —Q

Series pumps—same flow rate Q through both pumps,
Pump heads H, and H, are additive,

Pump A
Q4 m Head H
—
X
01 + Qg m Q1 + Qg
& ZX HeadH

Paraliel pumps—same head H from each pump.
Flow rates € and Ck are additive.

Figure 1.16 Pumps in series and parallel.

From a pump manufacturer’s catalog, we can select a single pump that
can match this performance. We could also select two smaller pumps
that can generate 2816 £t of head at 3993 gal/min. We would operate
these two pumps in parallel to achieve the desired flow rate and pres-
gure, Alternatively, if we chose two other pumps that would each provide
1408 1t of head at the full flow rate of 7986,11 gal/min, we would opet-
ate these pumps in series. Example of pumps in series and parallel are
ghown in Fig. 1.16.

In some instances, pumps must be configured in parallel, while other
situations might require pumps be operated in series. An example of
where parallel pumps are needed would be in pipelines that have a
large elevation difference between pump stations. In such cases, if cne
pump unit fails, the other pump will still be able to handle the head at
areduced flow rate. If the pumps were in series, the failure of one pump
would cause the entire pump station to be shut down, since the single
pump will not be able to generate enough head on its own to overcome
the static elevation head between the pump stations. Figure 1.17 shows
how the performance of a single pump compares with two identical
pumps in series and parallel configurations.

Example 1.24 Two pumps with the head-capacity characteristics defined as
follows are operated in series,
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Two pumps in series

Two pumps in parallel

One pump

Q
Flow rate

2Q

Figure 1.17 Pump performance--gseries and paraliel.

Pump A:

Q.gal/min | 0 600 1400 2200 3200

H, £t | 2400 2350 2100 1720 1200
Pump B:

Q, gal/min | 0 600 1400 2200 3200

H, ft '800 780 700 520 410

(a) Caleulate the combined performance of the two operated in series,

{(b) When operated in series, what impeller trims must be made to either
pump, to meet the requirement of 2080 ft of head at 2200 gal/min?

{¢) Can these pumps be operated in parallel configuration?

Solution

{a) Pumps in series cause the heads to be additive at the same flow rate.

Therefore, at each flow rate, we add the corresponding heads to create the
new H-@ curve for the combined pumps in series.

The combined performance of pump A and pump B in series is as follows:

@ galnin | 0 600 1400 2200 3200

a4 ’3200 3130 2800 2240 1610

61
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{b) Reviewing the combined pump curve, we see that the head generated
at 2200 gal/min is 2240 ft. Since our requirement is 2080 ft of head at 2200
gal/min, clearly we must trim one of the pump impellers, We will leave the
smaller pump B alone and trim the impeller of the larger pump A to achieve
the total head of 2080 ft.

Pump A head trim required = 2240 — 2080 == 160 ft

At the desired flow rate of 2200 gal/min, pump A produces 1720 ft. We must
reduce this head by 160 ft, by trimming the impeller, or the head must become
1720 — 160 = 1560 fi. Using the affinity laws, the pump trim required is

12
1560 3 »
(—"—1720) = 0.9524 or 95.24 percent trim

1t must be noted that this calculation is only approximate. We must create
the new pump performance curve at 95.24 percent trim and verify that the
trimmed pump will generate the desired head of 1560 ft at a flow rate of 2200
gal/min. This ia left as an exercise for the reader,

{c} Tor parallel pumps, since flow is split between the pumps at the common
head, the individual pump curves should each have approximately the same
head at each flow rate, for satisfactory operation, Reviewing the individual
curves for pumps A and B, we see that the pumps are mismatched. Therefore,
these pumps are not suitable for parallel operation, since they do not have a
common head range,

Example 1.25 Two identical pumps with the head-capacity characteristic
defined as follows are operated in parallel. Calculate the resultant pump
performance,

Qgalimin | 0 600 1400 2200 3200

ou l2400 2350 2100 1720 1200

Solution Since the pumps operated in parallel will have common heads at the
combined flow rates, we can generate the combined pump curve by adding
the flow rates corresponding to each head value. The resulting combined
performance curve is as follows:

@, gal/min | 0 1200 2800 4400 6400

H it |2400 2360 2100 1720 1200

1.13.4 System head curve

is

A system head curve, or asystem head characteristic curve, for a pipeline

a graphic representation of how the pressure needed to pump water

through the pipeline varies with. the flow rate. If the pressures required
at 1000, 2000, up to 10,000 gal/min are plotted on the vertical axis, with




Water Systems Piping 63

Head

Flow rate Q@

Figure 1.18 System head curve.

the flow rates on the horizontal axis, we get the system head curve as
gshown in Fig, 1,18,

It can be seen that the system curve is not linear. This is because the
pressure drop due to friction varies approximately as the square of the
flow rate, and hence the additional pressure required when the flow is
increased 2000 to 3000 gal/min is more than that required when the
flow rate increases from 1000 to 2000 gal/min,

Consider a pipeline used to transport water from point A to point
B. The pipe inside diameter is D and the length is L. By knowing the
elevation along the pipeline we can calculate the total pressure required
at any flow rate using the techniques discussed earlier. At each flow rate
we would calculate the pressure drop due to friction and multiply by
the pipe length to get the total pressure drop. Next we will add the
equivalent of the static head difference between A and B converted to
psi, Finally, the delivery pressure required at B would be added to come
up with the total pressure required similar to Eq. (1.29). The process
would be repeated for multiple flow rates so that a system head curve
can be constructed as shown in Fig. 1.18, If we plotted the feet of head
instead of pressure on the vertical axis, we could use the system curve
in conjunction with the pump curve for the pump at A, By plotting both
the pump H-@) curve and the system head curve on the same graph, we
can determine the point of operation for this pipeline with the specified
pump curve, This is shown in g, 1.19.

When there is no elevation difference between points A and B, the
system head curve will start at the point where the flow rate and head
are both zero. If the elevation difference were 100 ft, B being higher
than A, the system head curve will start at H = 100 ft and flow Q=0

This means at zero flow rate the pressure required is not zero, Thig
simply means that even at zero flow rate, a minimum pressure must be
present at Ato overcome the static elevation difference between Aand B.
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Figure 1.18 Pump head curve and system head
curve.

1.13.5 Pump curve versus system
head curve

The system head curve for a pipeline is a graphic representation of the
head required to pump water through the pipeline at various flow rates
and is an increasing curve, indicating that more pressure is required
for a higher flow rate, On the other hand, the pump performance (head
versus capacity) curve shows the head the pump generates at various
flow rates, generally a drooping curve. When the required head per the
system head curve equals the available pump head, we have a match of
the required head versus the available head. Thig point of intersection
of the system head curve and the pump head curve is the operating
point for this particular pump and pipeline system, This is illustrated
in Fig. 119,

It is possible that in some cases there may not be a point of inter-
section between a system head curve and a pump curve, This may be
because the pump is too small and therefore the system head curve
starts off at a point above the shutoff head of the curve and it diverges
from-the pump curve. Such a situation is shown in Fig. 1.20. It can be
seen from this figure that even though there is no operating point be-
tween the system head curve and the single pump curve, by adding a

second pump in series, we are able to get a satisfactory operating point .

on the system head curve.

When we uge multiple pumps in series or parallel, a combined pump
curve is generated and superimposed on the system head curve to get
the operating point. Figure 1.21 shows how for a given pipeline system
head curve, the operating point changes when we switch from a series
pump configuration to a parallel pump configuration.
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Figure 1.20 Diverging pump head curve and system
head curve,

In Fig. 1.21, the pipeline system head curve is plotted along with
the pump curves. Alse shown are the combined pump curves for both
series and parallel operation of two identical pumps. It can be seen
that A represents the operating point with one pump, C the operating
point for two pumps in series, and finally B the operating point with
the two pumps in parallel. Corresponding to these points, the pipeline
(and pump) flow rates are @4, Qc, and @p, respectively,

The relative magnitudes of these flow rates would depend upon the
nature of the system head curve. A steep system head curve will produce
! a higher flow rate with pumps in series, whereas a flat system head
curve will produce a higher flow rate with parallel pumps.

e e £ e R e g e S g

Two pumps in series

Head H

Two pumps in paraftel

\One pump

Flow rate Q

Figure 1.2t Multiple pumps with system head cuzve.
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1.14 Flow Injections and Deliveries

So far we have discussed water pipelines with flow entering the pipeling
at the beginning and exiting at the end of the pipeline. There wasno flow
injection or flow delivery along the pipeline between the entrance anq
exit. In many instances a certain volume of water would be pumped out
of a storage tank and on its way to the destination several intermediate
deliveries may be made at various points as shown in Fig. 1.22,

In Fig. 1.22 we see a pipeline that carries 10,000 gal/min from poing -
A and at two intermediate points C' and D delivers 2000 and 5000 -
gal/min, respectively, ultimately carrying the remainder of 3000 gal/min
to the termination point B. Such a water pipeline would be typical of
a small distribution system that serves three communities along the .
path of the pipeline. The hydraulic analysis of such a pipeline must
take into account the different flow rates and hence the pressure drops
in each segment. The pressure drop calculation for the section of pipe
between A and C will be based on a flow rate of 10,000 gal/min. The
pressure drop in the last section between D and B would be based on
3000 gal/min. The pressure drop in the intermediate pipe segment CD
will be based on 8000 gal/min, The total pregsure required for pumping
at A will be the sum of the pregsure drops in the three segments AC,
CD, and DB along with adjustment for any elevation differences plus
the delivery pressure required at B. For example, if the pressure drops
in the three segments are 500, 300, and 150 psi, respectively, and the
delivery pressure required at B is 50 psi and the pipeline is on a flat
terrain, the total pressure required at A will be

500 + 300 - 150 + 50 = 1000 psi

In comparison if there were no intermediate deliveries at C and D, the -
entire fow rate of 10,000 gal/min would be delivered at B necessitating -
a much higher pressure at A than the 1000 psi calculated.

Similar to intermediate deliveries previously discussed, water may
be injected into the pipeline at some locations in between, causing ad- |
ditional volumes to be transported through the pipeline to the termi-
nus B. These injection volumes may be from other storage facilities or

2000 gal/min 5000 gal/min
10,000 gab/min 3000 gai/mir
—_— ——
A c D B

Figure 1.22 Waier pipeline with multiple deliveries.
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2 Mgal/day
10 Mgal/day _
i
A c o) —_— B

15 Mgal/day
Flgure 1.23 Hydraulic gradient with injections and deliveries.

water wells. The impact of the injections and deliveries on the hydraulie
pressure gradient is illustrated in Fig, 1.23.

Because of the varying flow rates in the three pipe sections, the slope
of the bydraulie gradient, which represents the pressure loss per mile,
will be different for each section. Hence the hydraulic gradient appears
as a series of broken lines. If the flow through the entire pipeline were
a constant value as in previous examples, the hydraulic gradient will
be one continuous line with a constant slopé equal to the head loss per
mile. We will illustrate injection and delivery in a water pipeline system
using an example,

Example 1.26 An NPS 30 water pipeline (0.5-in wall thickness) 106 mi long
from A to Bis used to transport 10,000 gal/min with intermediate deliveries
at C and D of 2000 and 3000 gal/min, respectively, as shown in Fig. 1.24, Ag
£, 4000 gal of water is injected into the pipeline so that a total of 9000 gal/min
is delivered to the terminus at B at §0 psi. Caleulate the total pressure and
pumping HP required at A baged on 80 percent pump efficiency, Use the
Hazen-Williams equation with ¢ = 120, The slevations of points A through
E are as follows: ‘

A=1001f B=340ft C=180ft D=150ft and E =280ft

Solution Section AC has a flow rate of 10,000 gal/min and is 23 mi long.
Using the Hazen-Williams equation {1.38), we calculate the pressure drop in

10,000 gai/min i
g 2000 gal/min
A 23mi Jc 38 mi Dl 18mi TE 27mi B
2000 gal/min 3000 gaifmin 4000 gal/min

Figure 1.24 Exampls of water pipaline with injectivns and deliveries.

W
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this section of pipe to be

P - 23,909 10’000 1,862 1 4.87
mem e 120 29.0

= 6.5169 psi/mi
Total pressure drop in AC = 6.52 x 28 = 149.96 psi
Elevation head for AC == E—% = 34.63 psi

Section O'D has a flow rate of 8000 gal/min and is 38 mi long. Therefore,
the pressure drop is

1662
By = ( 8000 ) % 65169 = 4.3108 pai/mi

10,000
Total pressure drop in CD = 4,.3108 x 38 = 163.81 psi
Elevation head for CD = -1502% =—12.99 psi

Section DE flows 5000 gal/min and is 18 mi long. We calculate the pressure
drop in this section of pipe to be

1.852

5000 \ ™

= | 6.5 i rti

By ( 10.0 00) x B6.6169 using proportions
= 1,8052 psi/mi

Total pressure drop in DE == 1,8052 x 18 = 32.49 psi
280 — 150
2,31

Section EB flows 9000 gal/min and is 27 mi long. We calculate the pressure
drop in this section of pipe to be

Elevation head for DE = = 56.28 psi

1.862 :
B = ( 9000 ) x 6.5169 = 5.3616 psi/mi

10,000
Elevation head for EB = §i[_]2—é_1280 = 25.97 pui

Adding all the pressure drops and adjusting for elevation difference we get
the total pressure required at A including the delivery pressure of 50 psi at
B as follows:

Py = (149.96 + 34.63) + (163.81 - 12.99) + (32.49 4 56.28)
+(144.76 + 25.97) + b0

Therefore, P4 = 644.91 psi.
Approximately 645 psi is therefore required at the beginning of pipeline
A to pump the given volumes through the pipeline system. The pump P

e a1 P S Y
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required at A is calculated next, Assuming a pump suction pressure of 50 psi
Pump head = (645 ~ 50) x 2.31 = 1375 f¢
Therefore, the BHP required using Eq, (1.64) is

1

Therefore, a 5000-HP motor-driven pump will be required at A,

1.15 Valves and Fittings

Water pipelines include several appurtenances as part of the pipeline
system. Valves, fittings, and other devices are used in a pipeline sys-
tem to accomplish certain features of pipeline operations. Valves may be
used to communicate between the pipeline and storage facilities as well
as between pumping equipment and storage tanks. There are many dif-
ferent types of valves, each performing a specific function. Gate valves
and ball valves are used in the main pipeline as well as within pump sta-
tions and tank farms. Pressure relief valves are used to protect piping
systems and facilities from overpressure due to upsets in operational
conditions. Pressure regulators and control valves are used to reduce
pressures in certain sections of piping systems as well as when deliv-
ering water to third-party pipelines which may be designed for lower
operating pressures. Check valves are found in pump stations and tank
farms to prevent backflow as well as separating the suction piping from
the discharge side of a pump installation. On long-distance pipelines
with multiple pump stations, the pigging process necessitates a com-
plex sertes of piping and valves to ensure that the pig passes through
the pump station piping without getting stuck.

All valves and fittings such as elbows and tees contribute to the fric-
tional pressure loss in a pipeline system. Earlier we referred to some of
these head losses as minor losses, As described earlier, each valve and
fitting is converted to an equivalent length of straight pipe for the pur-
pose of caleulating the head loss in the pipeline system.

A control valve functions as a pressure reducing device and is de-
signed to maintain a specified pressure at the downstream side as
shown in Fig. 1.25. '

If Py is the upstream pressure and P, is the downstream pressure,
the control valve is designed to handle a given flow rate @ at these pres-
sures. A coefficient of discharge C, is typical of the control valve degign
and is related to the pressures and flow rates by the following equation:

Q =C,A(P; - PB)V? (1.74)

where A is a constant.
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Upstroam pressure Py

Prassure drop AR

Downstream pressure Py

ok

Flow &

Flgure 1.25 Control valve,

Generally, the control valve is gelected for a specific application based
on P, Py, and €. For example, a particular situation may require 800 psi
upstream pressure, 400 psi downstream pressure, and a flow rate of
3000 gal/min. Based on these numbers, we may caleulate a C, = 550. We
would then select the correct size of a particular vendor’s control valve
that can provide this C, value at a specified flow rate and pressures.
For example, a 10-in valve from vendor A may have a C, of 400, while
a 12-in valve may have a C, = 600. Therefore, in this case we would
choose a 12-in valve to satisfy our requirement of C, = 550.

1.16 Pipe Stress Analysis

In this section we will discuss how a pipe size is selected based on the
internal pressure necessary to transport water through the pipeline. If
1000 psi pressure is required at the beginning of a pipeline to transport
a given volume of water a certadn distance, we mugt ensure that the pipe
has adequate wall thickness to withstand this pressure. In addition to
being able to withstand the internal pressure, the pipeline also must be
designed not to collapse under external loads such as soil loading and
vehicles in case of a buried pipeline.

Since pipe may be constructed of different materials such as rein-
forced concrete, steel, wrought iron, plastic, or fiberglass, the necessary
wall thickness will vary with the strength of the pipe material. The
majority of pipelines are constructed of some form of material conform-
ing to the American National Standards Institute (ANSI), American
Society for Testing and Materials (ASTM), American Petroleum Insti-
tute (API), American Water Works Association (AWWA), Plastic Pipe
Institute (PPI), or Federal Specification.

Barlow’s equation is used to ¢caleulate the amount of internal pressure
that a pipe can withstand, based on the pipe diameter, wall thickness,
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and the yield strength of the pipe material. Once we calculate this allow-
able internal operating pressure of the pipeline, we can then determine
4 hydrostatic @est bressure, to ensure safe operation. The hydrostatic
test pressure is generally 125 percent of the safe working pressure.
The pipeline will be pressurized to this hydrostatic test pressure and
the pressure held for a specified period of time to ensure no leaks and no
pipe Tupture. Generally, aboveground pipelines are hydrotested to 4 h
mipimum and underground pipelines for 8 h. Various local, city, state,
and federal government codes may dictate more rigorous requirements
for hydrotesting water pipelines.

parlow’s equation. Consider a circular pipe of outside diameter D and
wall thickness T’ Depending on the D/T" ratio, the pipe may be classi-
fied as thin walled or thick walled. Most water pipelines constructed of
steel are thin-walled pipes. If the pipe is constructed of some material
(with a yield strength S psi) an internal pressure of P psi will generate
stresses in the pipe material. At any point within the pipe material
two stresses are present. The hoop stress S, acts along the circumfer-
ential direction at a pipe cross section. The longitudinal or axial stress
S, acts along the length or axis of the pipe and therefore normal to the
pipe cross section. It can be proved that the hoop stress 53, is twice the
axial stress §,. Therefore, the hoop stress becomes the controlling stress
that determines the pipe wall thickness required. As the internal pres-
sure P i8 increased, both S and S, increase, but S, will reach the yield
stress of the material first. Therefore, the wall thickness necessary to
withstand the internal pressure P will be governed by the hoop stress
Si generated in the pipe of diameter D and yield strength S,
Barlow’s equation is as follows

Si=g7 (1.75)

The corresponding formula for the axial (or longitudinal) stress 8, is

PD

=77

(1.76)
Equation (1.75) for hoop stress is modified slightly by applying a design
factor to limit the stress and a seam joint factor to account for the
Method of manufacture of pipe. The modified equation for calculating

;hﬁ} internal design pressure in a pipe in US. Customary units is as
ollows; ‘

_ 2TSEF

P
D

(1.77)
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where P = internal pipe design pressure, psi
D = pipe outside diameter, in
T = nominal pipe wall thickness, in
S = specified minimum yield strength (SMYS) of pipe
material, psig
E = seam joint factor, 1.0 for seamless and submerged

arc welded (SAW) pipes (see Table 1.7)

F = design factor, usually 0,72 for water and petroleum

pipelines

The design factor is sometimes reduced from the 0.72 value in the
cage of offshore platform piping or when certain city regulations re.
guire buried pipelines to bé operated at a lower pressure. Equation
(1.77) for calculating the internal design pressure is found in the Code
of Federal Regulations, Title 49, Part 195, published by the U.S. Depart-
ment of Transportation (DOT). You will alse find reference to this equa-
tion in ASME standard B31.4 for design and transportation of lquid

pipelines.

TABLE 1.7 Pipe Design Joint Factors

Pipe specification

Pipe category

Joint factor E

ASTM AG3

ASTM A106
ASTM Al34
ASTM A136
ASTM A139
ASTM A211
ASTM A333
ASTM A333
ASTM A381
ASTM A671
ASTM A672
ASTM A691
API bL

API BLX

APIGLS

Beamless

Flectric resistance weldad
Furnace lap welded
Furnace butt welded
Seamless

Electric fusion arc welded
Electric Resistance Welded
Electric fusion welded
Spiral welded pipe
Seamless

Welded

Double submerged arc welded
Blectric fusion welded
Electric fugion welded
Eleotric fusion weldad
Seamless

BElectric resistance welded
Electric lagh welded
Submerged arc welded
Furnace lap welded
Furnace butt welded
Seamless

Electric resistance welded
Electric flash welded
Submerged arc welded’
Electric regsistance welded
Submerged arc welded

1.00
1.00
0.80
0.60
1.00
.80
1.00
0.80
0.80
1.00
1.00
1.00
1.00
1.06
1.00
1.00
1.00
1.00
1.00
0.80
0.60
1.00
1.00
1.00
1.00
1.00
1.00
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In Sl units, the internal design pressure equation is the same as
ghown in Eq. (1.77), except the pipe diameter and wall thickness are
in millimeters and the SMYS of pipe material and the jnternal design

ressures are both expressed in kilopascals.

For a particular application the minimum wall thickness required for
a water pipeline can be caleulated using Eq, (1.77). However, this wall
thickness may have to be increased to account for corrosion effects, if
any, and for preventing pipe collapse under external loading conditions.
For example, if corrosive water is being transported through a pipeline
and it is estimated that the annual corrosion allowance of 0.0 in must
be added, for a pipeline life of 20 years we must add 0.01 x 20 =0.20 in
to the minimum calculated wall thickness based on internal pressure. If
such a pipeline were to be designed to handle 1000 psiinternal pressure
and the pipeline is constructed of NPS 16, SAW steel pipe with 52,000
psi SMYS, then baged on Eq. (1.77) the minimum wall thickness for
1000 psi internal pressure is

T = 1000 16 = 0.2137i
T 552,000 x 1.0 x 072 — 02187 in
Adding .01 x 20 = 0.2 in for corrosion allowance for 20-year life, the
revised wall thickness is

T =0.2137 4+ 0.20 = 0.4137 in

Therefore, we would use the nearest standard wall thickness of
0.600 in,

Example 1.27 What is the internal design pressure for an NPS 20 water
pipeline (0.875-in wall thickness) if it is constructed of SAW steel with a
yield strength of 42,000 psi? Assume a design factor of 0.66. What would be
the required hydrotest pressure range for this pipe?

Solution Using Eq. (1.77),

P =2x0.875 x 42,000 x 1.0 x -0—2% = 1039.5

Hydrotest pressure = 1,95 x 1039.5 = 1299.38 psi

The internal pressure that will cause the hoop stress to reach the yield stress
aof' 42,000 psi will correspond to 1039.5/0.66 = 1575 psi. Therefore, the hy-
drotest pressure range is 1300 to 1675 psi,

1.17 Pipeline Economics

.In Pipeline economics we are concerned with the objective of determin-
Ing the optimum pipe size and material to be used for transporting
8 given volume of water from a source to a destination, The criterion
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would be to mjnimize the capital investment as well as annual operating
and maintenance cost. In addition to selecting the pipe itself to handle
the flow rate we must also evaluate the optimum size of pumping equip-
ment required. By installing a smaller-diameter pipe we may reduce the
pipe material cost and installation cost. However, the smaller pipe size
would result in a larger pressure drop due to friction and hence higher
horsepower, which would require larger more costly pumping equip-
ment. On, the other hand, selecting a larger pipe size would increase
the capital cost of the pipeline itself but would reduce the capital cost
of pumping equipment. Larger pumps and motors will also result in
increased annual operating and maintenance cost. Therefore, we need
to determine the optimum pipe size and pumping power required based
on some approach that will minimize both capital investment as well as
annual operating costs. The least present value approach, which con-
giders the total capital investment, the annual operating costs over the
life of the pipeline, time value of money, borrowing cost, and income tax
rate, seems to be an appropriate method in this regard.

In determining the optimum pipe size for a given pipeline project, we
would compare three or four different pipe diameters based on the cap-
ital cost of pipeline and pump stations, annual operating costs (pump
gtation costs, electricity costs, demand charges, ete.), and so forth. Tak-
ing into consideration the project life, depreciation of capital assets,
and tax rate, along with the interest rate on borrowed money, we would
be able to annualize all costs. If the annualized cost is plotted against
the different pipe diameters, we will get a set of curves as shown in
Fig. 1.26, The pipe diameter that results in the least annual cost would
be considered the optimum size for this pipeline,

NPS 16
= NPS 18
% NPS 20
3
8
o)
8
g
g M —
<
|
Throughput @

Figure 1.26 Pipeline costs versus pipe diameter,
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Example 1.28 A 25-mi-long water pipeline is used to transport 15 Mgal/day
of water from a pumping station at Parker to a storage tank at Danby, De-
termine the optimum pipe size for this application based on the minjimum
initial cost. Consider three different pipe sizes: NPS 20, NPS 24, and NPS
30. Use the Hazen-Williams equation with C = 120 for all pipes, Assume the
pipeline is on fairly flat terrain, Use 86 percent pump efficiency. Uss $700
per ton for pipe material cost and $1500 per HP for pump station installation
cost. Labor costs for installing the three pipe sizes are $100, $120, and $130
per ft, respectively. The pipeline will be designed for an operating pressure
of 1400 psi. Assume the following wall thickness for the pipes:

NPS 20 pipe: 0.312 in
NPS 24 pipe: 0,375 in
NP8 80 pipe: 0.5600 in

Solution First we determine the flow in gal/min:

15 x 108

15 Mgal/day = B4 50

== 10, 416.7 gal/min

For the NPS 20 pipe we will first caleulate the pressure and pumping HP
required. The pressure drop per mile from the Hazen-Williams equation
(1.38) 1s

1.862
P = 93,909 (10,416.7) 1

120 19.376487
= 50.09 psifmi
Total pressure drop in 25 mi = 25 x 50.09 = 1252.25 psi
Assuming a 50-psi delivery pressure at Danby and a 50-psi pump suction
pressure, we ohtain
Pump head required at Parker = 1252.25 x 2.31 = 2893 f¢

Pump flow rate = 10,416.7 gal/min

. 1
Pump HP required at Parker = 2893 x 10,416.7 x 3960 <O FE
= 8953 HP

Therefore, a 9000-HP pump unit will be required.
Next we will caleulate the total pipe required, The total tonnage of NFS
20 pipe is calculated as follows:

Pipe weight per ft = 10.68 x 0.312(20 — 0.312) = 65.60 Ib/f;

Total pipe tonnage for 25 mi = 25 x 85.8 x gﬁ:%g = 4330 tons
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Increasing this by 5 percent for contingency and considering $700 per ton
material cost, we got

Total pipe material cost = 700 x 4330 x 1.05 = $3,18 million

Labor cost for installing
NP8 20 pipeline = 100 x 25 x 5280 = $13.2 million

Pump station cost = 1500 x 9000 = $13.5 million

Therefore, the total capital cost of NPS 20 pipeline = $3.18 4+ $13.2+$13.5 =
$29.88 million.

Next we calculate the pressure and HP required for the NPS 24 pipeline,
The pressure drop per mile from the Hazen-Williams equation is

10,4167\ %% 1
120 93,2587

_ = 20,62 psi/mi
Total pressure drop in 26 mi = 25 x 20.62 = 515.5 psi

B, = 23,909 (

Assuming a 50-psi delivery pressure at Danby and a 50-psi pump suction
pressure, we ohtain

Pump head required at Parker = 515.5 x 2.31 = 1191 ft

Pump flow rate = 10,4167 gal/min
1

Pump HP required at Parker = 1191 x 10,416.7 x 3560 < 085

= 3686 P

Therefore a 4000-HP pumyp unit will be required.
Next we will calculate the total pipe required. The total tonnage of NPS
24 pipe is ealculated as follows:

Pipe weight per ft = 10.68 x 0.375(24 — 0.375) = 94.62 Ib/ft

Total pipe tonnage for 25 mi = 25 x 94.62 x % = 6245 tons

Increasing this by 5§ percent for contingency and considering $700 per ton
material cost, we obtain

Total pipe material cost = 700 x 6245 x 1.05 = $4.59 million

Labor cost for installing
NES 24 pipeline = 120 x 25 x 5280 = $15.84 million

Pump station cost = 1500 x 4000 = $6.0 million

Therefore, the total capital cost of NPS 24 pipeline = $4.59 + $15.84 +
$6.0 = $26.43 million.
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Next we calculate the pressure and HP required for the NPS 30 pipeline,
The pressure drop per mile from the Hazen-Williams equation is

1.852
10,416.7 1
Fin = 28,909 (*‘m—) 29,0457

= 7.03 psifmi
Total pressure drop in 25 mi = 25 x 7.03 = 175.75 psi

Assuming a 50-psi delivery pressure at Danby and a 50-psi pump suction
pressure, we obtain

pump head required at Parker = 175.75 x 2.31 = 406
Pump flow rate = 10,416.7 gal/min

. 1
Pump HP required at Parker = 406 x 10, 416.7 x 3960 < 0.8 1267 HP

Therefore a 1500-HP pump unit will be required.
Next we will calculate the total pipe required. The total tonnage of NPS
30 pipe is caleulated as follows:

Pipe weight per ft == 10.68 x 0.500(30 — 0.500) = 157.53 1b/ft

Total pipe tonnage for 25 mi = 25 x 157.63 x g%g—g = 10,397 tons

Increasing this by b percent for contingency and considering $700 per ton
material cost, we obtain

Total pipe material cost = 700 x 10,397 x 1.05 = $7.64 million

Labor cost for installing
NPS 30 pipeline = 130 x 25 x 5280 = $17.18 million

Pump station cost = 1500 x 1500 = $2.25 million

Therefore, the total capital cost of NPS 30 pipeline = $7.64 + $17.16 +
$2.25 = $27,05 million.

In surnmary, the total capital cost of the NPS 20, NPS 24, and NPS 30
pipelines are

NPS 20 capital cost = $29.88 million
NFS 24 capital cogt = $26.43 million
NPS 30 capital cost = $27.05 million

Based on initial cost alone, it appears that NPS 24 is the preferred pipe size.

Example 1.20 A 70-mi-long water pipeline is constructed of 30-n (0.375-in
wall thickness) pipe for transporting 15 Mgal/day from Hampton pump
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station to a delivery tank at Derry. The delivery pressure required at Derry is
20 psi. The elevation at Hampton is 150 ft and at Derry it is 260 ft. Caleulatg
the pumping horsepower required at 85 percent pumnp efficiency.

This pipeline system needs to be expanded to handle increased capacity
from 15 Mgal/day to 25 Mgal/day. The maximum pipeline pressure is 800 pg;.
One option would be to install a parallel 30-in-diameter pipeline (0.375 wa])
thickness) and provide upgraded pumps at Hampton. Another option woulg
require expanding the capacity of the existing pipeline by installing an intey.
mediate booster pump station. Determine the more economical alternative
for the expansion. Use the Hazen-Williams equation for pressure drop with
C = 120.

Solution At 15 Mgal/day flow rate,

15 x 108 .
Q= e 10, 416.7 gal/min
Using the Hazen-Williams equation,
10,4167\ %% 1
B, = 23,90 : = 6.74 psi/mi
m = 25,308 ( 120 ) Zooprer O T4 peimi

The total pressure required at Hampton ig

By = Pr+ Bygy + Pior from Eq. (1.29)
250 — 150

2.31 _
Therefore the Hampton pump head required is (535.1 — 50) x 2.31 = 1121 fi,
assuming a 50-pai suction pressure at Hampton. :

The pump HP required at Hampton [using Eq. (1.64}] is

1

3960 % 0.86

For expansion to 25 Mgal/day, the pressure drop will be calculated using
proportions:

= (.74 x 70) -+ + 20 = 535.1 psi

HP = 1121 x 10,416.7 = 3470 HP, say 4000 HP installed

25 x 108 ,
25 Mgal/day = a0 17,361.11 gal/min
95 1-862
P, =674 x (1—5) = 17.36 psi/mi

The total pressure required is

250 — 150

B =07 —_——en
y» = (17.36 x T0) + 531

+ 20 = 1279 psi

Since the maximum pipeline pressure is 800 psi, the number of pump stations .

required

= 1279/800 = 1.6, or 2 pump stations
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With two pump stations, the discharge pressure at each pump station ==
1279/2 = 840 psi. Therefore, the pump head required at each pump station =
(640 — 50) x 2.31 == 1363 ft, assuming a 50-psi suction pressure at each
pump station,

The pump HP required [using Eq, (1.84)] is

1
HP = 1368 x 1786111 sz

= 7030 HP, say 8000 HP installed
Increase in HP for expansion = 2 x 8000 — 4000 == 12,000 HP

Incremental pump station
cost based on $1500 per HP = 1500 x 12,000 = $18 million

This cost will be compared to looping a section of the pipeline with a 30-in
pipe. If a eertain length of the 70-mi pipeline is looped with 30-in pipe, we
could reduce the total pressure required for the expangion from 1279 psi to
the maximum pipeline pressure of 800 psi. The equivalent diameter of two
30-in pipes is

2 0.8808
D, =29.25 (i-) = 38.07 in

The pressure drop in the 80-in pipe at 25 Mgal/day was calculated earlier as
17.36 psi/mi. Hence,

P for the 38.07-in pipe = 17.36 x (29.25/38.07/%87 = 4.81 psi/mi

If we loop & miles of pipe, we will have & miles of pipe at B, = 4.81 pei/mi
and (70 — x) mi of pipe at 17.38 psifmi. Therefore, since the total pressure
cannot exceed 800 psi, we can write

4.81x 4 17.36 (70 — &) - 43.3 + 20 < B0OO
Solving for x we get,
x = 38,18
'II‘herefore we must loop about 89 mi of pipe to be within the 800-psi pressure
imit,

If we loop loop 39 i of pipe, the pressure required at the 25 Mgal/day flow
rate is

(89 x 4.81) + (81 x 17.36) + 48.3 -+ 20 = 789.1 psi




80  Chapter One

The cost of this pipe loop will be calculated based on a pipe material cost of
$700 per ton and an installation cost of $120 per fi.

Pipe weight per foot = 10.68 x 0.375 x (30 — 0.375)
= 118.65 I/ft
Material cost of 39 mi of 30-in loop = $700 x 118.65 x 5280 x 39
= $17.1 million

Fipe labor cost for installing
39 mi of 30-in loop = $120 x 5280 x 89 = $24.7 million

Total cost of pipe loop = $17.1 + $24.7 = $41.8 million
compared to

Incremental pump station cost based
on adding a booster pump station = $18 million

Therefore, based on the minimum initial cost alone, looping is not the eco-
nemical option,

In conclusion, at the expanded flow rate of 25 Mgal/day, it is more cost
effective to add HP at Hampton and build the second pump station to limit,
pipe pressure to 800 psi.




